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TNPSC GROUP I – TEST BATCH 2022 
TEST XI – CURRENT AFFAIRS AND APTITUDE AND MENTAL ABILITY 

 
1. The government of Tamilnadu has recently formed a panel to frame the new education 

policy of the state under the chairmanship of 
a. Aruna Jagadheeshwaran  b. Justice D. Murugesan 
c. Viswanathan Anand  d. R. Balakrishnan 
e. Answer not known 
khepyj;jpd; Gjpa fy;tpf; nfhs;ifia tFf;f jkpo;ehL muR rkPgj;jpy; xU FO 
ahUila jiyikapy; mikj;Js;sJ? 
a. mUzh n[fjP];tud;  b. ePjpaurh; D. KUNfrd; 
c. tp];tehjd; Mde;j;  d. R. ghyfpU~;zd; 
e. tpil njhpatpy;iy 
 

2. How many pairs are correctly matched? 
I. Meghamalai  - Tiger reserve 
II. Kaliveli – largest brackish water lake in South India 
III. Pulicat bird Sanctuary – Ecologically sensitive zone 
IV. Cauvery Gundar Interlink Project – NABARD Assistance 
a. one pair   b. Two pairs    c. Three pairs  
d. Four pairs   e. Answer not known 
vj;jid ,izfs; rhpahf nghUj;jg;gl;Ls;sd? 
I. Nkfkiy – Gypfs; ghJfhg;gfk; 
II. fypNtyp – njd;dpe;jpahtpd; kpfg;nghpa cth; ePh; Vhp 
III. goNtw;fhL gwitfs; ruzhyak; - Rw;Wr;#oy; czh;jpwd; kz;lyk; 
IV. fhNthp Fz;lhW ,izg;G jpl;lk; - eghh;L JizAld; 
a. Xh; ,iz   b. ,uz;L ,izfs;   c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

3. Which of the following mobile app launched by the government of Tamilnadu to help 
women’s self help groups to sell their products online? 
a. Mathi   b. Erode Mathi   c. Salem Mathi 
d. Chennai Mathi  e. Answer not known 
gpd;tUtdtw;Ws; kfsph; Ra cjtp FOf;fs; jq;fs; jahhpg;Gfis ,iza tpw;gid 
nra;tjw;fhf jkpof muR cUthf;fpAs;s ifg;Ngrp nrayp vJ? 
a. kjp    b. <NuhL kjp    c. Nryk; kjp 
d. nrd;id kjp  e. tpil njhpatpy;iy 
 

4. The Chennai Kanniyakumari Industrial Corridor Project was funded by 
a. AIIB  b. Asian Development Bank c. New Development Bank 
d. World Bank e. Answer not known 
nrd;id – fd;dpahFkhp njhopw;Jiw eilghij jpl;lj;jpw;F epjpAjtp mspg;gJ 
__________ 
a. AIIB  b. Mrpa tsh;r;rp tq;fp  c. Gjpa tsh;r;rp tq;fp 
d. cyf tq;fp e. tpil njhpatpy;iy 
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5. Choose the correctly matched pairs 
1. M. Appavu - 17th speaker of Tamilnadu Legislative Assembly 
2. M.K. Stalin - the oldest first time chief minister of Tamilnadu 
3. B. Shanmugasundaram – Advocate General of Tamilnadu 
a. 1, 2  b. 1, 3  c. 2, 3  d. All of these e. Answer not known 
rhpahd ,izia fz;lwpf 
1. M. mg;ghT – jkpof rl;lkd;wj;jpd; 17tJ rghehafh; 
2. M.K. ];lhypd; - jkpofj;jpd; %j;j Kjy; Kjyikr;rh; 
3. B. rz;KfRe;juk; - jkpo;ehl;bd; jiyik tof;fwpQh; 
a. 1, 2  b. 1, 3  c. 2, 3  d. ,it midj;Jk;       e. tpil njhpatpy;iy 
 

6. Which of the following states ranked first in NITI Aayog’s Sustainable Development 
Goals Index 2020-21? 
a. Tamil Nadu  b. Andhra Pradesh  c. Kerala 
d. Gujarat   e. Answer not known 
epjp MNahf;fpd; ePbj;j epiyahd tsh;r;rp ,yf;Ffs; FwpaPL 2020-21,y; gpd;tUk; 
khepyq;fspy; Kjyplk; gpbj;j khepyk; vJ? 
a. jkpo;ehL   b. Me;jpugpuNjrk;  c. Nfush 
d. F[uhj;   e. tpil njhpatpy;iy 
 

7. Match the following  
GI Tag   Place 
A. Chedi Putta  1. Tirunelveli 
B. Milk Gova   2. Srivilliputhur 
C. White silk veshti  3. Salem 
D. Chungudi Saree  4. Madurai 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 1 2 4 3 
d. 2 1 4 3 
e. Answer not known 
nghUj;Jf 
Gtprhh; FwpaPL   ,lk; 
A. nrb Gl;lh   1. jpUney;Ntyp 
B. ghy; Nfhth  2. =tpy;ypg;Gj;J}h; 
C. nts;is gl;L Nt~;b 3. Nryk; 
D. Rq;Fb Glit  4. kJiu 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 1 2 4 3 
d. 2 1 4 3 
e. tpil njhpatpy;iy 
 

8. Tamilnadu Economic Advisory Council consists of  
1. Esther Duflo  2. Amartiyasen Kumar  3. Jean Dreaze 
4. Raghuram Rajan  5. Aravind Subramanian 
a. 1, 2, 3, 4, 5  b. 2, 3, 4   c. 1, 3, 4, 5  
d. 1, 4, 5  e. Answer not known 
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jkpof nghUshjhu MNyhridf; FOtpd; cs;slf;fk; 
1. v];jh; l/g;Nyh  2. mkh;j;jpahnrd; Fkhh;  3. [Pd; l;hP]; 
4. uFuhk; uh[d;  5. mutpe;j; Rg;gpukzpad; 
a. 1, 2, 3, 4, 5  b. 2, 3, 4   c. 1, 3, 4, 5  
d. 1, 4, 5  e. tpil njhpatpy;iy 
 

9. Choose the correctly matched pairs 
1. Operation wind – Illicit liquor sale 
2. Vezham – Interpretation centre of forest department 
3. Cologne University – Canada 
4. Pasteur Institute – Coonoor 
a. 1, 2, 4 b. 2, 4  c. 2, 3, 4 d. All of these  e. answer not known 
rhpahd ,izfis fz;lwpf 
1. fhw;W eltbf;if – rl;ltpNuhj kJ tpw;gid 
2. Ntok; - tdj;Jiwf;fhd tpsf;f ikak; 
3. NfhNyhd; gy;fiyf;fofk; - fdlh 
4. gh];bah; epWtdk; - Fd;D}h; 
a. 1, 2, 4 b. 2, 4  c. 2, 3, 4 d. ,it midj;Jk;     e. tpil njhpatpy;iy 
 

10. The Union Government is planning to construct a heritage village and tourism at 
a. Singaperumal Koil  b. Tambaram   c. Mappedu 
d. Velankanni   e. Answer not known 
ghuk;ghpa fpuhkk; kw;Wk; Rw;Wyhj;jsj;ij kj;jpa muR vq;F mikf;f jpl;lkpl;Ls;sJ? 
a. rpq;fk;ngUkhs; Nfhtpy;  b. jhk;guk;   c. kg;NgL 
d. Ntshq;fd;dp   e. tpil njhpatpy;iy 
 

11. Which of the following city had proposed to establish a sister city agreement with 
Chennai? 
a. Phuket b. Jagarta c. Tokyo  d. Seoul e. Answer not known 
gpd;tUk; ve;j efuk; nrd;idAld; xU rNfhju efu xg;ge;jj;ij Vw;gLj;j 
Kd;nkhope;jJ? 
a. GNfl; b. [fh;j;jh c. Nlhf;fpNah  d. rpNahy; e. tpil njhpatpy;iy 
 

12. Choose the correct statements about Makkalai Thedi Maruthuvam Scheme 
1. Launched at Samanappalli village, Krishnagiri 
2. First of its kind scheme in the country 
3. Medical screening of communicable and non-communicable diseases 
a. 1, 2  b. 1, 3  c. 2, 3  d. All of these e. Answer not known 
kf;fis Njb kUj;Jtk; jpl;lk; gw;wpa rhpahd $w;Wfis Njh;f 
1. fpU~;zfphp> rkzg;gs;sp fpuhkj;jpy; njhlq;fg;gl;Ls;sJ 
2. ,j;jifa jpl;lk; njhlq;fg;gLtJ ehl;bNyNa Kjy; KiwahFk; 
3. njhw;wf;$ba kw;Wk; njhw;whj Neha;fSf;fhd kUj;Jt ghpNrhjid 
a. 1, 2  b. 1, 3  c. 2, 3  d. ,it midj;Jk;    e. tpil njhpatpy;iy 
 

13. Which of the following state is ranked as the best performing state in the progress of 
smart cities mission? 
a. Gujarat  b. Tamilnadu   c. Andhra Pradesh 
d. Telangana  e. Answer not known 
gpd;tUtdtw;Ws; ve;j khepyk; nghypTW efuj; jpl;l Kd;Ndw;wj;jpy; rpwg;ghf 
nray;gLk; khepykhf juthpirg;gLj;jg;gl;Ls;sJ? 
a. F[uhj;  b. jkpo;ehL    c. Me;jpugpuNjrk; 
d. njYq;fhdh e. tpil njhpatpy;iy 
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14. The state of Tamil Nadu and Denmark had planned to create a green energy island in 
a. Gulf of Mannar  b. Rameshwaram  c. Thoothukkudi 
d. Kanniyakumari  e. Answer not known 
jkpo;ehL kw;Wk; nld;khh;f; ,ize;J gRik Mw;wy; jPit vq;F cUthf;f 
jpl;lkpl;Ls;sJ? 
a. kd;dhh; tisFlh b. ,uhNk];tuk;  c. J}j;Jf;Fb 
d. fd;dpahFkhp  e. tpil njhpatpy;iy 
 

15. Choose the correctly matched pairs with respect to Tamil Nadu 
I. November 28 – Day of Sacrifice 
II. September 17 – Day of Social Justice 
III. September 11 – Mahakavi Day 
IV. April 14 – Day of equality 
a. 1, 2, 3 b. 2, 3, 4 c. 1, 2, 4 d. All of these e. Answer not known 
jkpo;ehL gw;wpa rhpahd ,iziaf; fhz;f 
I. etk;gh; 28 – jpahf jpdk; 
II. nrg;lk;gh; 17 – r%f ePjp jpdk; 
III. nrg;lk;gh; 11 – kfhftp jpdk; 
IV. Vg;uy; 14 – rkj;Jt jpdk; 
a. 1, 2, 3 b. 2, 3, 4 c. 1, 2, 4 d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

16. Which of the following had approved $150 million loan for funding Chennai Sustainable 
Urban Services Programme? 
a. World Bank   b. International Monetary Fund  
c. Asian Development Bank d. BRICS Bank 
e. Answer not known 
gpd;tUtdtw;Ws; vJ nrd;idapd; ePbj;j epiyahd efh;g;Gw Nritfs; jpl;lj;jpw;F 150  
kpy;ypad; lhyh; fld; toq;f xg;Gjy; mspj;Js;sJ? 
a. cyf tq;fp   b. rh;tNjr gz epjpak; 
c. Mrpa tsh;r;rp tq;fp  d. gphpf;]; tq;fp 
d. tpil njhpatpy;iy 
 

17. The ‘My Village’ scheme is related to  
a. Non-Resident Tamils   
b. Welfare of Senior Citizens in Rural Areas 
c. Infrastructure Development of Villages 
d. MGNREGS 
e. Answer not known 
‘vdJ fpuhkk;’ jpl;lk; vjDld; njhlh;GilaJ? 
a. ntspehL tho; jkpoh;fs; 
b. fpuhkg;Gw %j;j Fbkf;fs; eyd; 
c. fpuhk cl;fl;likg;G tsh;r;rp 
d. MGNREGS 
e. tpil njhpatpy;iy 

 
18. Match the following  

GI Tag   Place 
A. Clove   1. Kallakurichi 
B. Netti works  2. Kanniyakumari 
C. Kalamkari paintings 3. Karuppur 
D. Wood Carvings  4. Thanjavur 
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 A B C D 
a. 1 2 3 4 
b. 2 4 3 1 
c. 1 2 4 3 
d. 4 3 2 1 
e. Answer not known 
nghUj;Jf 
Gtprhh; FwpaPL  ,lk; 
A. fpuhk;G   1. fs;sf;Fwpr;rp 
B. nel;b Ntiyg;ghL 2. fd;dpahFkhp 
C. fyk;fhhp Xtpaq;fs; 3. fUg;g+h; 
D. ku Ntiyg;ghL  4. jQ;rhT+h; 
 A B C D 
a. 1 2 3 4 
b. 2 4 3 1 
c. 1 2 4 3 
d. 4 3 2 1 
e. tpil njhpatpy;iy 
 

19. Choose the correctly matched pairs 
1. UNDP Equator Prize – Tamilnadu Registration Department 
2. Multi Modal Logistics Park – Mappedu 
3. First Mobile Library in India – Melavasal 
a. 1, 2  b. 1, 3  c. 2, 3  d. All of these e. Answer not known 
rhpahd ,izfis fz;lwpf 
1. UNDP g+kj;jpa Nuif ghpR – jkpo;ehL gjpTj;Jiw 
2. gy khjphp jsthlg; g+q;fh – kg;NgL 
3. ,e;jpahtpd; Kjy; elkhLk; E}yfk; - Nkythry; 
a. 1, 2  b. 1, 3  c. 2, 3  d. ,it midj;Jk;    e. tpil njhpatpy;iy 
 

20. Tamilnadu Chiefminister M.K. Stalin announced to seven-member committee for social 
justice under the chairmanship of 
a. K. Dhanavel   b. Suba Veerapandian c. R. Rajendran 
d. Swaminathan Devadoss  e. Answer not known 
ahUila jiyikapd; fPo; r%f ePjpf;fhd VO Ngh; FO mikf;fg;gLk; vd jkpof 
Kjyikr;rh; K.f. ];lhypd; mwptpj;Js;shh;? 
a. K. jdNty;   b. Rg tPughz;bad;  c. R. ,uhN[e;jpud; 
d. Rthkpehjd; Njtjh];  e. tpil njhpatpy;iy 
 

21. India’s first food security museum was launched in 
a. Trichy  b. Thanjavur    c. Madurai  
d. Chennai  e. Answer not known 
,e;jpahtpd; Kjy; czT ghJfhg;G mUq;fhl;rpafk; vq;F mikf;fg;gl;Ls;sJ? 
a. jpUr;rp  b. jQ;rht+h;     c. kJiu 
d. nrd;id  e. tpil njhpatpy;iy 
 

22. Which of the following had approved $150 million loans for Chennai Metropolitan Area 
Project? 
a. World Bank  b. AIIB   c. Asian Development Bank 
d. IMF    e. Answer not known 
gpd;tUtdtw;wpy; vJ nrd;id ngUefug; gFjp jpl;lj;jpw;F 150 kpy;ypad; lhyh; fld; 
toq;f xg;Gjy; mspj;Js;sJ? 



 

6 | Page PH: 044 - 24339436, 42867555, 9840226187 

 

a. cyf tq;fp  b. AIIB   c. Mrpa tsh;r;rp tq;fp 
d. IMF   e. tpil njhpatpy;iy 
 

23. The first state in the country to get the state-of-the-art device as part of the efforts to 
modernise the state forensic department by introducing DNA Profile based search tool 
was 
a. Tamil Nadu  b. Andhra Pradesh   c. Kerala 
d. Goa    e. Answer not known 
khepy jltpay; Jiwia etPdg;gLj;Jk; Kaw;rpapd; xU gFjpahf> ehl;bNyNa Kjy; 
Kiwahf bvd;V Ratptuk; rhh;e;j Njly; fUtpia mwpKfg;gLj;jpAs;s khepyk; vJ? 
a. jkpo;ehL   b. Me;jpugpuNjrk;   c. Nfush 
d. Nfhth   e. tpil njhpatpy;iy 
 

24. The World Tamil Diaspora Day observed on 
a. 12 January  b. 12 February   c. 12 March 
d. 11 May  e. Answer not known 
cyf Gyk;ngah;e;j jkpoh; jpdk; mDrhpf;fg;gLk; ehs; _________ 
a. [dthp 12  b. gpg;uthp 12    c. khh;r; 12 
d. Nk 11  e. tpil njhpatpy;iy 
 

25. The International Thirukkural Conference 2022 was inaugurated in 
a. Chennai   b. Madurai    c. Coimbatore  
d. Thanjavur  e. Answer not known 
rh;tNjr jpUf;Fws; khehL 2022 vq;F njhlq;fg;gl;lJ? 
a. nrd;id  b. kJiu    c. Nfhak;Gj;J}h; 
d. jQ;rht+h;  e. tpil njhpatpy;iy 
 

26. Kamatchi, a fruit vendor sells 30 apples and 50 pomegranates. If she makes a profit of ₹ 8 

per apple and loss ₹ 5 per pomegranate, what will be her overall profit (or) loss?  
a Rs. 10 loss   b. Rs. 20 loss   c. Rs. 10 profit   
d. Rs. 20 profit  e. Answer not known   
fhkhl;rp vd;Dk; go tzpfu;> 30 Mg;gps;fisAk;> 50 khJisfisAk; tpw;fpwhh;. 
mtUf;F> Xh; Mg;gpshy; &.8 ,yhgKk;> xU khJisahy; &.5 el;lKk;  fpilj;jJ 
vdpy;> mtuJ xl;Lnkhj;j ,yhg/el;lj; njhifapidf; fhz;f 
a. &.10 el;lk;   b. &.20 el;lk;    c. &.10 yhgk; 
d. &.20 yhgk;   e. tpil njhpatpy;iy 

 
27. Kuzhal’s mother makes dosa by mixing the batter made from 1 portion of urad dhal 

with 4 portions of rice. Represent each of the ingredients used in the batter as percentage 
a. 60%, 40%  b. 30%, 40%    c. 80%, 20%    
d. 80%, 40%  e. Answer not known 
1 gq;F cSe;J khTld; 4 gq;F mhprp fye;j khtpy;> Foy; vd;gthpd; jhahh; Njhir 
jahhpf;fpwhh; vdpy;> khtpypUf;Fk; %yg;nghUs;fisr; rjtPjkhff; Fwpf;fTk;. 
a. 60%, 40%  b. 30%, 40%    c. 80%, 20%     
d. 80%, 40%  e. tpil njhpatpy;iy 

 
28. If 10% of A is equal to 12% of B, then 15% of A is equal to what percent of B? 

a. 81%  b. 18%  c. 6%   d. 3%  e. Answer not known 
A d; 10% vd;gJ B ,d; 12%f;F rkk; vdpy; A ,d; 15%> B ,d; vj;jid 
rjtPjj;jpw;F rkk;?  
a. 81%  b. 18%  c. 6%   d. 3%  e. tpil njhpatpy;iy 
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29. In a leadership election between two persons A and B, A wins by a margin of 192 votes. 
If A gets 58% of the total votes, find the total votes polled. 
a. 850  b. 1000 c. 1200  d. 1500 e. Answer not known 
xU jiyikaj; Njh;e;njLf;Fk; Njh;jypy; A kw;Wk; B Mfpa ,U egh;fspy; A Mdth; 
192 thf;Ffs; tpj;jpahrj;jpy; ntw;wp ngWfpwhu;. nkhj;j thf;Ffspy; A Mdth; 58% Ig; 
ngWfpwhh; vdpy;> gjpthd nkhj;j thf;Ffisf; fhz;f 
a. 850  b. 1000 c. 1200  d. 1500 e. tpil njhpatpy;iy 

 
30. If the numerator of a fraction is increased by 25% and the denominator is increased by 

10%, it becomes
2

5
. Find the original fraction.  

a. 
5

2
  b. 

5

11
  c. 

25

22
  d. 

44

125
  e. Answer not known 

xU gpd;dj;jpd; njhFjp 25% ck;> gFjp 10% ck; mjpfupj;jhy; me;j gpd;dk; 
2

5
 Mf 

khWfpwJ vdpy;> mry; gpd;dj;ijf; fhz;f           

a. 
5

2
  b. 

5

11
  c. 

25

22
  d. 

44

125
  e. tpil njhpatpy;iy 

 
31. Match the following  

A. Thanthai Periyar Award 2022   1. K. Chandru 
B. Dr. Ambedkar Award 2022   2. K. Thirunavukkarasu 
C. Anna Award 2022    3. Udhayanithi Stalin 
D. Global Community Oscar Award 2021 4. Ashokan 
 A B C D 
a. 2 1 3 4 
b. 2 1 4 3 
c. 1 2 3 4 
d. 1 2 4 3 
e. Answer not known 
nghUj;Jf 
A. je;ij nghpahh; tpUJ 2022   1. K. re;JU 
B. lhf;lh;. mk;Ngj;fh; tpUJ 2022   2. K. jpUehTf;fuR 
C. mz;zh tpUJ 2022    3. cjaepjp ];lhypd; 
D. cyf fk;a+dpl;b M];fh; tpUJ 2021  4. mNrhfd; 
 A B C D 
a. 2 1 3 4 
b. 2 1 4 3 
c. 1 2 3 4 
d. 1 2 4 3 
e. tpil njhpatpy;iy 
 

32. A new Doppler Weather Radar was installed in 
a. CSIR-CECRI  b. NIOT   c. NIO   
d. IIT Madras  e. Answer not known 
Gjpa lhg;sh; thdpiy Nulhh; epWtg;gl;Ls;s ,lk; _________ 
a. CSIR-CECRI  b. NIOT   c. NIO 
D. IIT – nkl;uh];  e. tpil njhpatpy;iy 
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33. Tamilnadu Adi Dravidar Housing Development Corporation was established in 
a. 1970  b. 1971 c. 1973  d. 1974 e. Answer not known 
jkpo;ehL Mjp jpuhtplh; tPl;Ltrjp tsh;r;rp fofk; Njhw;Wtpf;fg;gl;l Mz;L __________ 
a. 1970  b. 1971 c. 1973  d. 1974 e. tpil njhpatpy;iy 
 

34. In Tamilnadu, the new police commission was constituted under the chairmanship of  
a. C.T. Selvam  b. Baskaran   c. Thirunavukarasu 
d. Ambasankar  e. Answer not known 
jkpofj;jpy; ahUila jiyikapy; Gjpa fhty;Jiw Mizak; mikf;fg;gl;lJ? 
a. C.T. nry;tk;  b. gh];fud;   c. jpUehTf;fuR 
d. mk;ghrq;fh;  e. tpil njhpatpy;iy 
  

35. How many pairs are correctly matched? 
I. Perumpalai – Dharmapuri 
II. Mayiladumparai – Krishnagiri 
III. Vembakkottai – Tirunelveli 
IV. Thullukkarpatti – Madurai 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 
vj;jid ,izfs; rhpahf nghUj;jg;gl;Ls;s? 
I. ngUk;ghiy – jh;kGhp 
II. kapyhLk;ghiw – fpU~;zfphp 
III. Ntk;gf;Nfhl;il – jpUney;Ntyp 
IV. Js;Sf;fhh;gl;b – kJiu 
a. Xh; ,iz   b. ,U ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

36. The new inter-disciplinary management and policy centre called Aqua MAP to solve 
water problems in India was established by 
a. IIT Mumbai  b. IIT Kanpur  c. IIT Madras 
d. IIT Kharaghpur  e. Answer now known  
,e;jpahtpy; jz;zPh; gpur;ridfis jPh;f;f mf;th MAP vdg;gLk; Gjpa ,ilepiy 
Nkyhz;ik kw;Wk; nfhs;if ikaj;ij Njhw;Wtpj;jJ __________ 
a. IIb Kk;ig  b. IIb fhd;g+h;  c. IIb nkl;uh]; 
d. IIb fuf;g+h;  e. tpil njhpatpy;iy 
 

37. Who among the following scientists has been granted a patent for developing a green 
methodology for producing a medicinally important compound Benzo (b) thiophene? 
a. Valarmathi   b. Poonguzhali  c. Tessy Thomas 
d. Vinisha Umashankar e. Answer not known 
gpd;tUk; tpQ;Qhdpfspy; ahUf;F kUj;Jt Kf;fpaj;Jtk; tha;e;j ngd;Nrh (b)  
jpNahgPd; vd;w Nrh;kj;ij jahhpg;gjw;fhd gRik Kiwia cUthf;Ftjw;fhd fhg;Ghpik 
toq;fg;gl;Ls;sJ? 
a. tsh;kjp   b. g+q;Foyp   c. nl];]p jhk];  
d. tpdprh ckhrq;fh; e. tpil njhpatpy;iy 
 

38. Which state has launched a scheme to provide loans to the women Self Help Groups 
(SHGs) of the state at zero per cent interest? 
a. Kerala  b. Tamil Nadu  c. Andhra Pradesh 
d. Odisha  e. Answer not known 
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kfsph; Ra cjtp FOf;fSf;F tl;bapd;wp fld; toq;Fk; jpl;lj;ij njhlq;fpAs;s 
khepyk; vJ? 
a. Nfush  b. jkpo;ehL   c. Me;jpugpuNjrk; 

d. xb~h  e. tpil njhpatpy;iy 
 

39. The ‘STARS’ project, which has been approved by the Union Cabinet, is partially funded 
by 
a. IMF   b. World Bank   c. ADB 
d. AIIB  e. Answer not known 
kj;jpa mikr;rfj;jhy; xg;Gjy; toq;fg;gl;l ];lhh;]; jpl;lj;jpw;F gFjpasT epjp 
toq;FtJ ________ 
a. IMF   b. cyf tq;fp   c. ADB  
d. AIIB  e. tpil njhpatpy;iy 
 

40. Which Indian state/UT is the first to announce the plans to present Gender Budget? 
a. Maharashtra  b. Andhra Pradesh   c. Tamil Nadu 
d. Kerala   e. Answer not known 
ghypd epjpepiy mwpf;ifia Kd;itg;gjw;fhd jpl;lj;ij Kjypy; mwptpj;j ,e;jpa 
khepyk; / Adpad; gpuNjrk; vJ? 
a. kfhuh~;buk;  b. Me;jpugpuNjrk;   c. jkpo;ehL 
d. Nfush   e. tpil njhpatpy;iy 

 
41. The ‘Smart kitchen scheme’ was launched by 

a. Goa   b. Karnataka   c. Kerala 
d. Odisha  e. Answer not known 
];khh;l; fpr;rd; jpl;lj;ij njhlq;fpa khepyk; ___________ 
a. Nfhth  b. fh;ehlfk;   c. Nfush 
d. xb~h  e. tpil njhpatpy;iy 

 
42. What is the name of India’s first biometrics-based digital processing system in Airports? 

a. Tech Yatra   b. Digi Yatra   c. Techno Boarding 
d. Digi Boarding  e. Answer not known 
tpkhd epiyaq;fspy; mwpKfg;gLj;jg;gl;Ls;s ,e;jpahtpd; Kjy; gNahnkl;hpf;]; 
mbg;gilapyhd vz;k nrayhf;f Kiwapd; ngah; vd;d? 
a. nlf; ahj;uh  b. b[p ahj;uh  c. nlf;Ndh Nghh;bq; 
d. b[p Nghh;bq;  e. tpil njhptpy;iy 

 
43. The ‘New Frontiers’ program, as a part of Azadi ka Amrit Mahotsav was introduced by 

a. Ministry of New & Renewable Energy b. Ministry of Home affairs 
c. Ministry of Coal     d. Ministry of External Affairs 
e. Answer not known 
Mrhjp fh mk;hpj; kN`hj;rtpd; xU gFjpahf ‘Gjpa vy;iyfs;’ jpl;lj;ij 
mwpKfg;gLj;jpaJ _________ 
a. Gjpa kw;Wk; GJg;gpf;fj;jf;f Mw;wy; mikr;rfk; 
b. cs;Jiw mikr;rfk; 
c. epyf;fhp mikr;rfk; 
d. ntspTwTj;Jiw mikr;rfk; 
e. tpil njhpatpy;iy 
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44. The E Way Bill is implemented under the aegis of which body? 
a. Central Board of Direct Taxes 
b. Central Board of Indirect Taxes and Customs 
c. Enforcement Directorate 
d. Finance Commission 
e. Answer not known 
, Nt gpy; ve;j mikg;gpd; fPo; nray;gLj;jg;gLfpwJ? 
a. kj;jpa Neub thpfs; thhpak; 
b. kj;jpa kiwKf kw;Wk; Rq;f thpfs; thhpak; 
c. mkyhf;f ,af;Feufk; 
d. epjp Mizak; 
e. tpil njhpatpy;iy 
 

45. The ‘Financial Inclusion Index (FI-Index)’ was launched by 
a. NITI Aayog  b. Reserve Bank of India  c. Ministry of Finance 
d. World Bank  e. answer not known 
epjp cs;slf;f FwpaPl;bid nfhz;L te;j mikg;G ________ 
a. epjp MNahf;  b. ,e;jpa hprh;t; tq;fp  c. epjp mikr;rfk;  
d. cyf tq;fp  e. tpil njhpatpy;iy 
 

46. What is the name of the indigenous artillery guns, which are to be inducted into the 
Indian Army? 
a. Sharang  b. Shrirang   c. Sevak 
d. Senak  e. Answer not known 
,e;jpa ,uhZtj;jpy; Nrh;f;fg;glTs;s cs;ehl;L gPuq;fpfspd; ngah; vd;d? 
a. ruhq;  b. =uq;   c. Nrtf; 
d. Nrdhf;  e. tpil njhpatpy;iy 

 
47. How many pairs are correctly matched? 

Defence Exercise   Country 
1. Ajeya Warrior  - United Kingdom and India 
2. PASSEX   - India and Vietnam 
3. Sea Vigil-21’  - India 
4. NAVDEX 21 -  Italy 
a. one pair   b. two pairs   c. three pairs 
d. four pairs   e. answer not known 
vj;jid ,izfs; rhpahf nghUj;jg;gl;Ls;sd? 
,uhZt gapw;rp  ehL 
1. mN[ah thhpah;  ,q;fpyhe;J kw;Wk; ,e;jpah 
2. PASSEX   ,e;jpah kw;Wk; tpal;ehk; 
3. rP tp[py; - 21  ,e;jpah 
4. NAVDEX 21  ,j;jhyp 
a. Xh; ,iz   b. ,uz;L ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 

 
48. Choose the correct statement 

1. Russia is to deliver the regimental set of S-400 Triumf ‘SA-21 Growler’ to India 
2. INS Nireekshak, is classified under Diving Support Vehicle 
3. Dustlik’ is a military exercise between India and Tajikistan 
a. 1, 2  b. 1, 3  c. 2, 3  d. All of these e. Answer not known 
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rhpahd $w;Wfis fz;lwpf 
1. S-400 Triumf, ‘SA-21 Growler’ vDk; gil mzptFg;G rhh;e;j njhFg;Gfis ,u~;ah 

,e;jpahtpw;F toq;fTs;sJ 
2. INS eph;f;~hf; ePh;%o;F uf MjuT thfdj;jpd; fPo; tifg;gLj;jg;gl;Ls;sJ. 
3. j];l;ypf; vd;gJ ,e;jpah j[pfp];jhd; ,ilNaahd ,uhZt gapw;rpahFk;. 
a. 1> 2  b. 1> 3 c. 2> 3  d. ,it midj;Jk;    e. tpil njhpatpy;iy 

 
49. Which indigenous missile corvette of the Indian Navy was converted to a ship museum? 

a. INS Vikrant  b. INS Khukri  c. INS Vikramaditya 
d. INS Shivalik  e. Answer not known 

 mUq;fhl;rpaf fg;gyhf khw;wg;gl;Ls;s ,e;jpa fg;gw;gilapd; cs;ehl;L VTfiz vJ? 
 a. INS tpf;uhe;j;  b. INS Ff;hp   c. INS tpf;ukhjpj;ah 
 d. INS rpthypf;  e. tpil njhpatpy;iy 
 
50. As of 2020, which Indian Finance Minister has presented the maximum number of Union 

Budgets? 
a. Manmohan Singh  b. P Chidambaram  c. Morarji Desai 
d. Nirmala Sitharaman e. Answer not known 
2020 Mk; Mz;L tiu> ve;j ,e;jpa epjpaikr;rh; mjpfgl;rk; epjpepiy mwpf;iffis 
jhf;fy; nra;Js;shh;? 
a. kd;Nkhfd; rpq;  b. gh. rpjk;guk;  c. nkhuhh;[p Njrha; 
d. eph;kyh rPjhuhkd;  e. tpil njhpatpy;iy 
 

51. First time in India, the 2022 conference a bi-annual event of global marine researchers 
was hosted by OCEANS 
a. IIT Madras Research Park b. NIOT   c. NIO 
d. Both a and b   e. Answer not known 
,e;jpahtpy; Kjy; Kiwahf> tUlj;jpw;F ,UKiw elj;jg;gLk; cyf fly; 
Muha;r;rpahsh;fspd; OCEANS 2022 khehl;bid elj;JtJ _______ 
a. IIT nkl;uh]; Muha;r;rp g+q;fh b. NIOT   c. NIO 
d. a kw;Wk; b    d. tpil njhpatpy;iy 
 

52. Choose the correct statements about Vazhndhu Kaattuvom Scheme  
I. Implemented under Tamil Nadu Rural Transformation Project 
II. 50% of the Funding provided by World Bank 
a. I only   b. II only   c. Both I and II 
d. None of these  e. Answer not known 
tho;e;J fhl;LNthk; jpl;lk; gw;wpa rhpahd $w;Wfis fz;lwpf 
I. jkpo;ehL Cuf khw;wj; jpl;lj;jpd; fPo; nray;gLj;jg;gLfpwJ 
II. 50% epjp cyf tq;fpahy; mspf;fg;gLfpwJ 
a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II 
d. ,it VJkpy;iy  e. tpil njhpatpy;iy 
 

53. How many pairs are correctly matched? 
I. Floating solar power project – Thoothukudi 
II. World Class Furniture Park – Madurai 
III. Robotic Surgery Centre – Omandur G.H. 
IV. Vembakkottai – Vaipar river 
a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 
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vj;jid ,izfs; rhpahf nghUj;jg;gl;Ls;sd? 
I. kpjf;Fk; #hpa rf;jp jpl;lk; - J}j;Jf;Fb 
II. cyfj;juk; tha;e;j kur;rhkhd;fs; g+q;fh – kJiu 
III. ,ae;jpu mWitrpfpr;ir ikak; - Xke;J}uhh; nghJ kUj;Jtkid 
IV. Ntk;gf;Nfhl;il – itg;ghW MW 
a. Xh; ,iz   b. ,uz;L ,izfs;  c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

54. Choose the correct statements about Moovalur Ramamirtham Ammaiyar Marriage 
Assistance Scheme 
I. Earlier it was known as Thalikku Thangam Scheme 
II. It was renamed as Moovalur Ramairtham Ammaiyar Education Assurance 

scheme in 2022 budget 
III. All the girl students studied from classes 6 to 12 in Government schools was 

provided Rs.1000 per month directly into their bank account. 
a. I, II  b. I, III c. II, III d. All the above e. Answer not known 
%tY}h; ,uhkhkph;jk; mk;ikahh; jpUkz cjtpj;jpl;lk; gw;wpa rhpahd $w;Wfis 
fz;lwpf 
I. ,j;jpl;lk; Muk;gj;jpy; jhypf;F jq;fk; vdg;gl;lJ 
II. 2022Mk; Mz;L epjpepiy mwpf;ifapy; ,j;jpl;lkhdJ %tY}h; ,uhkhkph;jk;; fy;tp 

cWjp jpl;lk; vd ngah; khw;wg;gl;lJ. 
III. muRg;gs;spfspy; 6 Mk; tFg;G Kjy; 12Mk; tFg;G tiu gapYk; midj;J 

khztpfSf;Fk; khje;NjhWk; &.1000 mth;fsJ tq;fp fzf;fpy; Neubahf 
nrYj;jg;gLk;. 

a. I, II  b. I, III  c. II, III d. ,it midj;Jk;     e. tpil njhpatpy;iy 
 

55. The Tamil Nadu state government will setup a Tamilnadu Green Climate Change Fund 
for 
a. Climate change initiatives  b. Mitigation   c. Greening project 
d. All of these   e. Answer not known 
jkpof muR jkpo;ehL gRik fhyepiy khw;w epjpaj;ij vtw;Wf;fhf mikf;fTs;sJ? 
a. fhyepiy khw;w Kaw;rpfs; b. jLg;G eltbf;iffs; c. gRik jpl;lq;fs; 
d. ,it midj;Jk;   e. tpil njhpatpy;iy 
 

56. If 48%of 48 = 64% of x , then x = __________ 
a. 64   b. 56   c. 42   d. 36  e. Answer not known 
48 ,d;  48% = x ,d; 64 vdpy;> x ,d; kjpg;G ______MFk;. 
a. 64   b. 56   c. 42   d. 36  e. tpil njhpatpy;iy 

 
57. A number is increased by 25%and then decreased by 20%. Find the change in that 

number. 
a. No change   b. 10% increase  c. 5% decrease   
d. 10% decrease  e. Answer not known 
Xu; vz;zhdJ 25% mjpfupf;fg;gl;lg; gpwF 20% Fiwf;fg;gLfpwJ vdpy;> me;j vz;zpy; 
Vw;gl;l rjtPj khw;wj;ijf; fhz;f. 
a. xU khw;wKk; ,y;iy b. 10% Vw;wk;   c. 5% FiwT   
d. 10% FiwT  e. tpil njhpatpy;iy 

 
58. 30% of x is equal to 60% of y then x : y is 

a. 1 : 2  b. 2  : 1  c. 30 : 60 d. 3 : 6  d. Answer not known 
x-d; 30% vd;gJ y – d; 60% f;F rkk; vdpy; x : y = 
a. 1 : 2  b. 2  : 1  c. 30 : 60 d. 3 : 6  d. tpil njhpatpy;iy 
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59. Gain or loss percent is always calculated on _________ 
a. Cost price    b. selling price   c. gain    
d. loss    e. Answer not known 

 ,yhg my;yJ el;l rjtPjk; vg;nghOJk; ______ Nky; fzf;fplg;gLk;. 
 a. mlf;ftpiyapd;  b. tpw;gid tpiyapd; c. ,yhgj;jpd;   

d. el;lj;jpd;   e. tpil njhpatpy;iy 
 
60. The ratio of boys and girls in a class is 5:3. If 16%of boys and 8%of girls failed in an 

examination, then find the percentage of passed students. 
a. 50%  b. 67%  c. 76%  d. 87% e. Answer not known  
xU tFg;gpy; khztu;fs; kw;Wk; khztpfspd; tpfpjk; 5:3 MFk;. xU Nju;tpy; 16% 
khztu;fSk; 8% khztpfSk; Nju;r;rp ngwtpy;iy vdpy;> Njh;r;rp ngw;w nkhj;j khzt> 
khztpfspd; rjtPjj;ijf; fhz;f.  
a. 50%  b. 67%  c. 76%  d. 87% e. tpil njhpatpy;iy 
 

61. How many pairs are correctly matched? 
1. i-Tamilnadu Technology Hub – Chennai 
2. State Startup Hub Centre – Nandambakkam 
3. Tamilnadu – First state to introduce Agricultural Budget 
4. Uzhavan Mobile App – digital agriculture 
a. One pair   b. Two pairs    c. Three pairs  
d. Four pairs   e. Answer not known 
vj;jid ,izfs; rhpahf nghUj;jg;gl;Ls;sd? 
1. i-jkpo;ehL njhopy;El;g ikak; - nrd;id 
2. khepy ];lhh;l;mg; ikak; - ee;jk;ghf;fk; 
3. jkpo;ehL – Ntshz; epjpepiy mwpf;ifia jhf;fy; nra;j Kjy; khepykhFk; 
4. cotd; ifg;Ngrp nrayp – vz;k Ntshz;ik 
a. Xh; ,iz   b. ,uz;L ,izfs;   c. %d;W ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

62. The Indian Space Research Organisation (ISRO) sets up its second spaceport at 
a. Mahendragiri  b. Kulasekarapattinam c. Kaveripoompattinam 
d. Gulf of Mannar  e. Answer not known 
,e;jpa tpz;ntsp Muha;r;rp ikak; mjd; ,uz;lhtJ VTjsj;ij vq;F 
mikf;fTs;sJ? 
a. kNfe;jpufphp  b. FyNrfugl;bdk;  c. fhNthpg+k;gl;bdk; 
d. kd;dhh; tisFlh e. tpil njhpatpy;iy 
 

63. Which city of Tamilnadu may be the first city in the state to have a Metrolite system? 
a. Chennai   b. Madurai   c. Trichy  
d. Coimbatore  e. Answer not known 
nkl;Nuhiyl; mikg;igf; nfhz;l jkpo;ehl;bd; Kjy; efuk; vJ? 
a. nrd;id   b. kJiu   c. jpUr;rp 
c. Nfhak;Gj;J}h;  e. tpil njhpatpy;iy 
 

64. How many pairs are correctly matched? 
1. Amudham Project – Poshan Abhiyan 
2. Aam Aadmi Mohalla Clinics – Delhi 
3. Chess Olympiad - Mamallapuram 
4. Nanjarayan Tank – 17th bird Sanctuary of Tamil Nadu 
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a. One pair   b. Two pairs   c. Three pairs 
d. Four pairs   e. Answer not known 
vj;jid ,izfs; rhpahf nghUj;jg;gl;Ls;sd? 
1. mKjk; jpl;lk; - Ngh~hd; mgpahd; 
2. Mk; Mj;kp nkh`y;yh fpspdpf;fs; - nly;yp 
3. nr]; xypk;gpahl; - khky;yGuk; 
4. eQ;ruhad; Vhp - jkpofj;jpd; 17tJ gwitfs; ruzhyak; 
a. Xh; ,iz   b. ,uz;L ,izfs;  c. %d;w ,izfs; 
d. ehd;F ,izfs;  e. tpil njhpatpy;iy 
 

65. Iron Age began in Tamil Nadu before 
a. 3200 years   b. 4000 years   c. 4200 years 
d. 3500 years   e. Answer not known 
jkpo;ehl;by; ,Uk;G fhyk; vj;jid Mz;LfSf;F Kd;G Njhd;wpaJ? 
a. 3200 Mz;Lfs;  b. 4000 Mz;Lfs;  c. 4200 Mz;Lfs; 
d. 3500 Mz;Lfs;  e. tpil njhpatpy;iy 
 

66. The Dak Adalat was conducted by 
a. Department of Posts b. Department of Mining  c. Department of Revenue 
d. Department of Police e. Answer not known 
jf; mjhyij elj;JtJ 
a. mQ;ry;Jiw  b. Ruq;fj;Jiw   c. tUtha;j;Jiw 
d. fhty;Jiw  e. tpil njhpatpy;iy 
 

67. The nutrition Garden was inaugurated at  
a. CMC    b. Chengalpattu Medical College   
c. Kilpauk Medical College  d. Omandurar Hospital 
e. Answer not known 
Cl;lr;rj;J g+q;fh vq;F Njhw;Wtpf;fg;gl;Ls;sJ? 
a. CMC    b. nrq;fy;gl;L kUj;Jtf;fy;Y}hp 
c. fPo;ghf;fk; kUj;Jtf;fy;Y}hp d. Xke;J}uhh; kUj;Jtkid 
e. tpil njhpatpy;iy 
 

68. Tamil Nadu launched Nalaya Thiran Skilling Programme for 
a. School Students  b. College Students  c. Women Entrepreneurs 
d. All of these  e. Answer not known 
ehisa jpwd; Mw;wy; jpl;lj;jpid jkpof muR ahUf;fhf njhlq;fpAs;sJ? 
a. gs;sp khzth;fs;  b. fy;Y}hp khzth;fs; c. ngz; njhopy;KidNthh; 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

69. Tamil Nadu Chief Minister launched Ennum Ezhuthum Mission in 
a. Thiruvarur   b. Thiruvallur  c. Kanchipuram 
d. Villupuram  e. Answer not known 
jkpof Kjy;th; vz;Zk; vOj;Jk; jpl;lj;ij vq;F njhlq;fp itj;Js;shh;? 
a. jpUth&h;   b. jpUts;@h;   c. fhQ;rpGuk; 
d. tpOg;Guk;   e. tpil njhpatpy;iy 
 

70. Choose the correct statements about Thozhilanangu 
1. Launched as Pilot Project in Madurai Central Constituency 
2. Initiative of TANSIM 
3. Aims to promote mass entrepreneurship among women from economically weaker 

sections in non-Metros 
a. 1, 2  b. 1, 3  c. 2, 3  d. All of these e. Answer not known 
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njhopyzq;F gw;wpa rhpahd $w;Wfis fz;lwpf 
1. kJiu kj;jpa njhFjpapy; xU Kd;Ndhb jpl;lkhf njhlq;fg;gl;lJ. 
2. TANSIM – apd; Kaw;rpahFk;. 
3. ngUefuq;fs; my;yhj efuq;fspy; nghUshjhuj;jpy; eype;j ngz; njhopy; 

KidNthiu Nkk;gLj;Jtij Nehf;fkhf nfhz;Ls;sJ. 
a. 1> 2  b. 1> 3 c. 2> 3  d. ,it midj;Jk;     e. tpil njhpatpy;iy 
 

71. The TANCAM will be set up in 
a. Chennai b. Coimbatore c. Ariyalur    d. Tanjavur     e. Answer not known 
TANCAM vq;F mikf;fg;glTs;sJ? 
a. nrd;id b. Nfhak;Gj;J}h; c. mhpaY}h; d. jQ;rht+h;    e. tpil njhpatpy;iy 
 

72. Which of the following district was ranked as the top district having better learning 
outcomes, as per the Performance Grade Index District (PGI – D) 2019-20 report? 
a. Kanniyakumari   b. Villupuram  c. Dharmapuri 
d. Both b and c   e. Answer not known 
nray;jpwd; ju ml;ltiz khtl;lk; (PGI-D) 2019-20 mwpf;ifapd; gb gpd;tUk; ve;j 
khtl;lk; rpwe;j fw;wy; tpisTfisf; nfhz;l Kjy; khtl;lkhf 
juthpirg;gLj;jg;gl;Ls;sJ? 
a. fd;dpahFkhp   b. tpOg;Guk;   c. jh;kGhp 
d. b kw;Wk; c    e. tpil njhpatpy;iy 
 

73. Choose the correct statements about president’s colours award 
I. This award given to Tamil Nadu Police Department for 2022 
II. Tamil Nadu, will be the first police force in South India to be bestowed with the 

prestigious honour 
a. I only   b. II only   c. Both I and II 
d. None of these  e. Answer not known 
FbauRj; jiythpd; fyh;]; tpUJ gw;wpa rhpahd $w;Wfis fz;lwpf 
I. ,e;j tpUJ 2022Mk; Mz;L jkpof fhty; Jiwf;F toq;fg;gl;lJ. 
II. ,jd; %yk; njd;dpe;jpahtpd; Kjy; fhty;Jiw vd;w ngUikia jkpofk; ngWk; 
a. I kl;Lk;   b. II kl;Lk;   c. I kw;Wk; II 
d. ,it VJkpy;iy  e. tpil njhpatpy;iy 
 

74. Consider the following 
Assertion (A): Tamil Nadu Day was observed on July 18 
Reason (R): Former Chief Minister C.N. Annadurai renamed Madras state as Tamil 
Nadu on this day in 1968 
a. A and R are true and R is the correct explanation of A 
b. A and R are true and R is not the correct explanation of A 
c. A true but R false 
d. A false but R true 
e. Answer not known 
gpd;tUtdtw;iw Ma;f 
$w;W (A): [{iy 18 md;W jkpo;ehL jpdk; mDrhpf;fg;gLfpwJ 
fhuzk; (R): Kd;dhs; Kjyikr;rh; rp.vd;.mz;zhJiu 1968Mk; Mz;L ,Nj ehspy; 
nkl;uh]; khepyj;ij jkpo;ehL vd;W ngah; khw;wpdhh;. 
a. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fkhFk;. 
b. A kw;Wk; R rhp kw;Wk; R vd;gJ A tpw;F rhpahd tpsf;fky;y 
c. A rhp R jtW 
d. A jtW R rhp 
e. tpil njhpatpy;iy 
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75. Who among the following persons have been selected for an award on Global Tiger 
Day? 
a. M. Maadhan  b. Bomman   c. Meen Kalan 
d. All the above  e. Answer not known 
gpd;tUgth;fSs; cyf Gypfs; jpdj;jd;W xU tpUJf;F Njh;e;njLf;fg;gl;lth;fs; ahh;? 
a. M. khjd;   c. nghk;kd;   c. kPd; fyd; 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

76. The Global Tiger Day was observed on 
a. June 25  b. June 27   c. July 25 
d. July 29  e. Answer not known 
cyf Gypfs; jpdk; mDrhpf;fg;gLk; ehs; ________ 
a. [{d; 25  b. [{d; 27   c. [{iy 25 
d. [{iy 29  e. tpil njhpatpy;iy 
 

77. Who was received an award from the ministry of electronics and information technology 
for developing agrishakthi an app for farmers? 
a. Vinisha Umashankar  b. Ezhilarasi   c. Selva Murali 
d. Thirunavukkarasu  e. Answer not known 
tptrhapfSf;fhf mf;hprf;jp nraypia cUthf;fpajw;fhf kpd;dZ kw;Wk; jfty; 
njhopy;El;g mikr;rfj;jplkpUe;J tpUJngw;wth; ahh;? 
a. tpdp~h ckhrq;fh;  b. vopyurp   c. nry;t Kusp 
d. jpUehTf;fuR   e. tpil njhpatpy;iy 
 

78. Which of the following is / are beneficiaries under ICDS  
a. Children in the age group of 0 – 6 years b. Pregnant women 
c. Lactating mothers     d. All the above 
e. Answer not known 
gpd;tUtdtw;Ws; ICDS fPo; gad;ngWgth;fs; ahh;? 
a. 0-6 taJ tiuapyhd Foe;ijfs;  b. fUTw;w ngz;fs; 
c. ghY}l;Lk; jha;khh;fs;    d. ,it midj;Jk; 
e. tpil njhpatpy;iy 
 

79. The Gene Bank, first of its kind project in the country was launched in 
a. Tamil Nadu  b. Karnataka   c. Maharashtra 
d. Andhra Pradesh  e. Answer not known 
ehl;by; Kjd; Kiwahf kugZ tq;fp vq;F Njhw;Wtpf;fg;gl;Ls;sJ? 
a. jkpo;ehL   b. fh;ehlfk;   c. kfhuh~;buk; 
d. Me;jpugpuNjrk;  e. tpil njhpatpy;iy 
 

80. Department of Animal husbandary and Dairy launched ‘One Health’ Pilot Project in 
a. Uttar Pradesh  b. Uttarakhand   c. Gujarat 
d. Himachal Pradesh e. Answer not known 
fhy;eil guhkhpg;G kw;Wk; ghy;tsj;Jiw ‘One health’ vDk; Kd;Ndhb jpl;lj;ij vq;F 
njhlq;fpAs;sJ? 
a. cj;jpugpuNjrk;  b. cj;jh;fhz;l;   c. F[uhj; 
d. ,khr;rygpuNjrk;  e. tpil njhpatpy;iy 
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81. Choose the correct statements with reference to Srijan Portal 
1. The Ministry of Corporate Affairs has developed this portal.  
2. It aims to partner with the private sector in the indigenization efforts of Defence 

Public Sector Undertakings (DPSUs) and the Armed Forces.  
a. 1 only    b. 2 only    c. Both 1 and 2  
d. Neither 1 nor 2  e. Answer not known 

 =[d; ,izaj;jsk; njhlh;ghd rhpahd $w;Wfis fz;lwpf 
1. ngUepWtd tptfhuq;fs; mikr;rfk; ,j;jsj;ij cUthf;fpAs;sJ 
2. ghJfhg;G nghJj;Jiw epWtdq;fs; kw;Wk; MAjg; gilfspd; cs;ehl;Lkakhf;fy; 

Kaw;rpfspy; jdpahh; JiwAld; $l;LNrh;tij ,J Nehf;fkhff; nfhz;Ls;sJ. 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 
d. ,uz;Lky;y  e. tpil njhpatpy;iy 

 
82. Choose the correct statements with reference to Swachh Bharat Mission 

1. It was launched in 2014 to make India Open Defecation Free.  
2. It covers the Goals of SDG 6.  
3. SBM (Grameen) is managed under the Ministry of Rural Development.  
a. 1 only    b. 1 and 2 only   c. 2 and 3 only  
d. 3 only   e. Answer not known 

 ];tr; ghuj; kprd; gw;wpa rhpahd $w;Wfis fz;lwpf 
1. ,e;jpahtpy; jpwe;j ntspapy; kyk; fopj;jy; ,y;yhj ehlhf khw;w ,J 2014Mk; 

Mz;L Njhw;Wtpf;fg;gl;lJ. 
2. ,J SDG 6 ,d; ,yf;Ffis cs;slf;fpaJ. 
3. ];tr; ghuj; kprd; Cuf tsh;r;rp Jiwahy; eph;tfpf;fg;gLfpwJ. 
a. 1 kl;Lk;   b. 1 kw;Wk; 2 kl;Lk;  c. 2 kw;Wk; 3 kl;Lk; 
d. 3 kl;Lk;   e. tpil njhpatpy;iy 
 

83. Which organization releases The World Inequality Report 2022?  
a. World Inequality Lab  
b. World Institute for Development Economics Research  
c. World Bank  
d. UNDP 
e. Answer not known 

 ve;j mikg;G cyf rkj;Jtkpd;ik mwpf;if 2022I ntspapLfpwJ? 
a. cyf rkj;Jtkpd;ik Ma;tfk; 
b. cyf nghUshjhu tsh;r;rp Muha;r;rp ikak; 
c. cyf tq;fp 
d. UNDP 
e. tpil njhpatpy;iy 

 
84. Choose the correct statements with reference to Pradhan Mantri Jan Arogya Yojna (PM-

JAY) 
1. It provides a cover of Rs. 5 lakhs per family per year for secondary and tertiary care 

hospitalization in public hospitals only.  
2. Under it, there is no restriction on the family size, age or gender.  
3. The households included in the yojana are based on the deprivation and occupational 

criteria of Socio-Economic Caste Census 2011 (SECC 2011) for rural and urban areas 
respectively.  

a. 1 and 2 only   b. 2 and 3 only   c. 1 and 3 only  
d. 1, 2 and 3   e. Answer not known 
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gpujk ke;jphpapd; [d; MNuhf;fpa jpl;lk; gw;wpa rhpahd $w;Wfis fz;lwpf 
1. ,J nghJ kUj;Jtkidfspy; kl;Lk; xU FLk;gj;Jf;F Mz;nlhd;Wf;F &.5 

yl;rj;jpw;fhd fhg;gPl;il ,uz;lhk; epiy kw;Wk; %d;whk; epiy rpfpr;irf;fhf 
toq;FfpwJ.  

2. ,j;jpl;lj;jpd; fPo;> rpfpr;irg; ngw FLk;gj;jpd; msT> taJ kw;Wk; ghypd fl;Lg;ghL 
VJkpy;iy 

3. jpl;lj;jpy; ,izf;fg;gl;Ls;s FLk;gq;fs; KiwNa fpuhkg;Gw kw;Wk; 
efh;g;Gwq;fSf;fhd r%f nghUshjhu rhjpf;fzf;nfLg;G 2011 ,d; gw;whf;Fiw kw;Wk; 
njhopy;rhh; msTNfhy;fspd; mbg;gilapy; mike;Js;sJ. 

a. 1 kw;Wk; 2 kl;Lk;  b. 2 kw;Wk; 3 kl;Lk;  c. 1 kw;Wk; 3 kl;Lk; 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 

 
85. Choose the correct statements with reference to Henley Passport Index 2022 

1. It is based on exclusive data from the International Air Transport Association (IATA).  
2. India’s passport rank improved to 83 from 110 in the index.  
a. 1 only    b. 2 only    c. Both 1 and 2  
d. Neither 1 nor 2  e. Answer not known 

 n`d;Ny gh];Nghh;l; FwpaPL 2022,d; gb rhpahd $w;Wfis fz;lwpf 
1. ,J rh;tNjr tpkhdg; Nghf;Ftuj;J rq;fj;jpd; gpuj;Naf juTfis mbg;gilahf 

nfhz;lJ. 
2. ,e;jpahtpd; gh];Nghh;l; juf;FwpaPL 110ypUe;J 83 Mf cah;e;Js;sJ. 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 
c. ,uz;Lky;y  e. tpil njhpatpy;iy 
 

86. On selling a T.V. at 5% gain and a fridge at 10% gain, a shopkeeper gains ₹2000. But if he 
sells the T.V. at 10% gain and the fridge at 5% loss, he gains Rs.1500 on the transaction. 
Find the actual price of the T.V.  
a. Rs.10000  b. Rs.10500   c. Rs.20000   
d. Rs.25000  e. Answer not known 
xU njhiyf;fhl;rpg; ngl;bia 5% ,yhgj;jpw;Fk;> xU Fsph;rhjdg; ngl;;bia 10% 

,yhgj;jpw;Fk; tpw;gjhy; filf;fhuUf;F epfu ,yhgk; Rs.2>000 fpilf;fpwJ. Mdhy; mth; 
xU njhiyf;fhl;rpg; ngl;bia 10% ,yhgj;jpw;Fk;> xU Fspu;rhjdg; ngl;bia 5% 
el;;lj;jpw;Fk; tpw;gjhy; mthpd; epfu ,yhgk; Rs.1>500 fpilf;fpwJ  vdpy; njhiyf;fhl;rpg; 
ngl;bapd; rhpahd tpiyiaf; fhz;f. 
a. &.10000  b. &.10500   c. &.20000   
d. &.25000  e. tpil njhpatpy;iy 

   
87. The price of a house is decreased from Rupees Fifteen lakhs to Rupees Twelve lakhs. 

Find the percentage of decrease. 
a. 10%  b. 20% c. 30%  d. 40%  e. Answer not known 
xU tPl;bd; tpiy 15 ,yl;rk; &ghapypUe;J 12 ,yl;rk; &ghahff; Fiwe;jJ vdpy;  
Fiwtpd; rjtPjk; fhzTk;. 
a. 10%  b. 20% c. 30%  d. 40%  e. tpil njhpatpy;iy 

 
88. What percent is 15 paise of 2 rupees 70 paise? 

a.
7

5 %
9

 b. 
5

5 %
9  

c. 
5

4 %
9

 d. 
4

5 %
9

 e. Answer not known 

2 &gha; 70 igrhtpy; 15 igrh vj;jid rjtPjk;? 

a. 
7

5 %
9

 b. 
5

5 %
9

 c. 
5

4 %
9

 d. 
4

5 %
9

 e. tpil njhpatpy;iy 
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89. The cost price of 11 pens is equal to the selling price of 10 pens. Find the loss or gain 
percent. 
a. a gain of 1%  b. a loss of 1%  c. a gain of 10%  
d. a loss of 10%  e. Answer not known 
11 Ngdhf;fspd; mlf;ftpiy 10 Ngdhf;fspd; tpw;w tpiyf;Fr; rkk; vdpy; ,yhg 
my;yJ el;l rjtPjj;ijf; fhz;f. 
a. 1% ,yhgk;  b. 1% el;lk;   c. 10% ,yhgk;   
d. 10% el;lk;  e. tpil njhpatpy;iy 

  

90. A shopkeeper mixes 20 kgs of rice which cost Rs.5 per kg with 35 kg of rice which cost 
Rs.7 per kg. Then he sells the mixture at Rs.6.50 per kg. Find his profit Percentage. 

a.3%  b. 
40

3
67

%  c. 
34

4
69

% d. 
43

3
69

% e. Answer not known 

xU filf;fhuh; jd;dplk; ,Ue;j fpNyh &.5 mlf;f tpiyAs;s 20fp mhprpiaAk;> fpNyh 
&.7 mlf;f tpiyAs;s 35 fpNyh mhprpiaAk; xd;whf fye;J fpNyh &.6.50f;F tpw;why; 
mtUf;F fpilf;Fk; ,yhgj;;jpd; rjtPjk; vd;d? 

a.3%  b. 
40

3
67

%  c. 
34

4
69

% d. 
43

3
69

% e. tpil njhpatpy;iy 
 

91. Which of the following reports were published by the World Economic Forum (WEF)?  
1. Global Gender Gap Report.  
2. Global Risk Report.  
3. Global Financial Stability Report  
4. Global Competitiveness Report  
a. 1 and 3 only   b. 3 and 4 only   c. 1, 2 and 4 only  
d. 1, 2, 3 and 4  e. Answer not known 

 gpd;tUtdtw;Ws; cyf nghUshjhu kd;wj;jhy; ntspaplg;gLk; mwpf;iffs; ahit? 
1. cyf ghypd ,ilntsp mwpf;if 
2. cyf mgha mwpf;if 
3. cyf epjp epiyj;jd;ik mwpf;if 
4. cyf Nghl;bj;jpwd; mwpf;if 
a. 1 kw;Wk; 3 kl;Lk;  b. 3 kw;Wk; 4 kl;Lk;  c. 1> 2 kw;Wk; 4 kl;Lk; 
d. 1> 2> 3 kw;Wk; 4  e. tpil njhpatpy;iy 

 

92. Which of the given following pairs are correctly matched?  
Festival  State 
1. Ugadi - Maharashtra 
2. Dree - Meghalaya 
3. Nabanna - West Bengal 
a. 1 and 2 only    b. 2 only    c. 3 only  
d. None of the above  e. Answer not known 

 rhpahd ,izfis fz;lwpf 
 tpohf;fs;  khepyk; 

1. cfhjp - kfhuh~;buk; 
2. l;hp  - Nkfhyah 
3. ehgd;dh - Nkw;F tq;fk; 
a. 1 kw;Wk; 2 kl;Lk;   b. 2 kl;Lk;   c. 3 kl;Lk; 
d. ,it VJkpy;iy   e. tpil njhpatpy;iy 

 

93. Which of the above pairs are correctly matched?  
Defence exercises   Countries 
1. Red Flag   -  India and USA 
2. Varuna   - India and France 
3. LAMITYE  - India and Seychelles  
a. 1, 2  b. 1, 3  c. 2, 3  d. All the above  e. Answer not known 
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rhpahd ,izfis fz;lwpf 
,uhZt gapw;rpfs;   ehLfs; 
1. nul; gpshf;  - ,e;jpah kw;Wk; mnkhpf;fh 
2. tUzh   - ,e;jpah kw;Wk; gpuhd;R 
3. LAMITYE  - ,e;jpah kw;Wk; nr~y;]; 
a. 1, 2  b. 1, 3  c. 2, 3  d. ,it midj;Jk;   d. tpil njhpatpy;iy 
 

94. Choose the correct statements with reference to Small Satellite Launch Vehicle (SSLV) 
1. NewSpace India Limited (NSIL) under the Department of Space is the sole nodal 

agency responsible for providing end to end SSLV launch services.  
2. It can carry satellites weighing up to 5000 kg to a low earth orbit.  
3. It is perfectly suited for launching multiple microsatellites at a time.  
a. All of these    b. 1 and 2 only   c. 2 only  
d. 1 and 3 only   e. Answer not known 
rpwpa nraw;iff;Nfhs; VTjy; thfdk; (SSLV) gw;wpa rhpahd $w;Wfis fz;lwpf 
1. tpz;ntsp Jiwapd; fPo; cs;s epa+];Ng]; ,e;jpah ypkpnll; vd;gJ SSLV 

ntspaPl;Lr; Nritfis toq;Ftjw;Fg; nghWg;ghd xNu epWtdkhFk;. 
2. ,J 5000 fpNyh vilAs;s nraw;iff;Nfhs;fis Fiwe;j Gtp Rw;Wg;ghijf;F 

nfhz;L nry;y KbAk;. 
3. xNu Neuj;jpy; gy FW nraw;iff;Nfhs;fis VTtjw;F ,J kpfTk; nghWj;jkhdJ. 
a. Nkw;$wpa midj;Jk;  b. 1 kw;Wk; 2 kl;Lk;  c. 2 kl;Lk; 
d. 1 kw;Wk; 3 kl;Lk;  e. tpil njhpatpy;iy 
 

95. Which of the following pairs are correctly matched?  
1. Chittagong port  -  Bangladesh  
2. Hambantota port  - Sri Lanka  
3. Gwadhar Port -  Iran 
a. 1, 2  b. 1, 3  c. 2, 3  d. All of these e. Answer not known  
rhpahd ,izfis fz;lwpf 
1. rpl;lfhq; JiwKfk; - tq;fNjrk; 
2. `k;gd;Njhl;lh JiwKfk; - ,yq;if 
3. Fthjh; JiwKfk; - <uhd; 
a. 1> 2  b. 1> 3 c. 2> 3  d. ,it midj;Jk;   e. tpil njhpatpy;iy 

 
96. “Ekuverin” is a joint military exercise between India and which other country?  

a. Nepal   b. Sri Lanka    c. Philippines  
d. Maldives  e. Answer not known 
VFnthpd; vDk; ,uhZt gapw;rp ,e;jpah kw;Wk; _____ ehl;bw;fpilNaahdJ 
a. Neghsk;  b. ,yq;if   c. gpypg;igd;]; 
d. khyj;jPTfs; e. tpil njhpatpy;iy 

 
97. 95:95:95 strategy is related to which disease?  

a. AIDS  b. Tuberculosis  c. Malaria  d. Cancer e. Answer not known 
95 : 95 : 95 vd;w Kiw ve;j NehAld; njhlh;GilaJ? 
a. va;l;]; b. vYk;GUf;fp Neha;   c. kNyhpah   d. Gw;WNeha;   e. tpil njhpatpy;iy 

 
98. Sustainable Cities India Programme is signed between India and:  

a. World Bank (WB)  
b. United Nations (UN)  
c. International Food Policy Research Institute (IFPRI)  
d. World Economic Forum (WEF) 
e. Answer not known 
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epiyahd efuq;fs; ,;e;jpah jpl;lk; ,e;jpah kw;Wk; kw;Wk; ve;j ehl;bw;fpilNa 
ifnaOj;jhdJ? 
a. cyf tq;fp        

b. If;fpa ehLfs; 
c. rh;tNjr czT nfhs;if Muha;r;rp ikak;  
d. cyf nghUshjhu kd;wk; 
e. tpil njhpatpy;iy 
 

99. Choose the correct statements regarding 5G technology:  
1. It is the latest upgrade in the Long-Term Evolution (LTE) mobile broadband 

networks.  
2. It works in two bands of spectrum with no Mid-Band Spectrum.  
3. One of the issues with 5G technologies is an High latency rate.  
a. 1 only    b. 2 only    c. 3 only  
d. All of these  e. Answer not known 
5[p njhopy;El;gk; njhlh;ghd rhpahd $w;Wfis fz;lwpf 
1. ,J LTE njhopy;El;gj;jpy; rkPgj;jpy; Nkk;gLj;jg;gl;l nkhigy; gpuhl;Ngz;l; 

nel;nthh;f;fhFk;. 
2. ,J kpl; Ngz;L ];ngf;l;uk; ,y;yhky; ,uz;L Ngd;L ];ngf;l;ukpy; Ntiy nra;fpwJ. 
3. cah; jhkj tpfpjk; 5[p njhopy;El;gj;jpy; cs;s xU rpf;fyhFk; 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 3 kl;Lk;  
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
100. Which organisation releases the “Global Environment Outlook report”?  

a. Greenpeace     b. The UN Environment Programme  
c. World Wide Fund for Nature   d. Global Footprint Network 
e. Answer not known 
cyf Rw;Wr;#oy; fz;Nzhl;l mwpf;ifia ntspapLk; mikg;G vJ? 
a. gRikmikjp    b. If;fpaehLfs; Rw;Wr;#oy; jpl;lk; 
c. cyfshtpa ,aw;if epjpak;  e. cyf ghjr;RtLfs; tiyaikg;G 
e. tpil njhpatpy;iy 
 

101. Which of the following are the eligibility criteria for the Pradhan Mantri Shram Yogi 
Maan-Dhan Scheme (PM-SYM)?  
1. They should be an unorganised worker (UW).  
2. Their age should be between 18 and 40 years  
3. Monthly Income Rs 15000 or below  
4. They should be covered under New Pension Scheme (NPS)  
a. 1, 2 and 3 only   b. 1, 2 and 4 only    c. 1, 3 and 4 only  
d. All the above  e. Answer not known  
gpd;tUtdtw;wpy; gpujk ke;jphp ~;uk; Nahfp khd;-jd; jpl;lj;jpw;fhd jFjp $Wfs; 
ahit? 
1. mth;fs; Kiwrhuh njhopyhsh;fshf ,Uf;f Ntz;Lk; 
2. mth;fs; taJ 18 ypUe;J 40f;Fs; ,Uf;F Ntz;Lk; 
3. khj tUkhdk; &.15000 my;yJ mjw;F fPo; ,Uf;fNtz;Lk; 
4. mth;fs; Gjpa Xa;t+jpa jpl;lj;jpd; fPo; tuNtz;Lk; 
a. 1> 2 kw;Wk; 3 kl;Lk; b. 1> 2 kw;Wk; 4 kl;Lk;  c. 1> 3 kw;Wk; 4 kl;Lk;  
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

102. Choose the correct statements with reference to the Operation Greens Scheme 
1. It was launched by the Ministry of Agriculture & Farmers' Welfare in November 

2018.  
2. It seeks to stabilize the supply of only Tomato, Onion and Potato (TOP) crops.  
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a. 1 only    b. 2 only    c. Both 1 and 2  
d. Neither 1 nor 2  e. Answer not known 
gRik jpl;l eltbf;if gw;wp rhpahd $w;Wfis fz;lwpf 
1. ,J Ntshz; kw;Wk; tptrhapfs; ey mikr;rfj;jhy; etk;gh; 2018,y; 

Njhw;Wtpf;fg;gl;lJ 
2. ,J jf;fhsp> ntq;fhak; kw;Wk; cUisf;fpoq;F tpepNahfj;ij kl;Lk; epiyg;gLj;j 

Kay;fpwJ 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 
d. ,uz;Lky;y  e. tpil njhpatpy;iy 

 
103. Which of the following organisations has released the Export Preparedness Index 2021?  

a. NITI Aayog  
b. Federation of Indian Chambers of Commerce & Industry  
c. Ministry of Commerce and Industry  
d. Federation of Indian Export Organisations 
e. Answer not known 
gpd;tUk; mikg;Gfspy; vJ Vw;Wkjp jahh;epiy mwpf;if 2021I ntspapl;lJ? 
a. epjp MNahf; 
b. ,e;jpa th;j;jfk; kw;Wk; njhopw;Jiw $l;likg;G 
c. th;j;jfk; kw;Wk; njhopw;Jiw mikr;rfk; 
d. ,e;jpa Vw;Wkjp epWtdq;fs; $l;likg;G 
e. tpil njhpatpy;iy 
 

104. The “Fengyun-1C satellite” launched by 
a. USA   b. South Korea   c. Japan  
d. China  e. Answer not known 
Fengyun-1C nraw;iff;Nfhis Vtpa ehL ___________ 
a. mnkhpf;fh  b. njd; nfhhpah  c. [g;ghd; 
d. rPdh  e. tpil njhpatpy;iy 
 

105. Choose the correct statements with reference to Facial Recognition Technology (FRT), 
1. Digi Yatra initiative is making use of FRT to make air travel easier.  
2. Variation in light intensity majorly affects the quality of FRT.  
a. 1 only    b. 2 only    c. Both 1 and 2  
d. Neither 1 nor 2  e. Answer not known 
Kf mq;fPfhuk; njhopy;El;gk; (FRT) njhlh;ghd rhpahd $w;Wfis fz;lwpf 
1. b[p ahj;uh Kd;Kaw;rpahdJ tpkhdg;gazj;ij vspjhf;f FRT ia gad;gLj;JfpwJ 
2. xspapd; jPtpuj;jpy; Vw;gLk; khWghL Kf;fpakhf FRT apd; juj;ij ghjpf;fpwJ. 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 
d. ,uz;Lky;y  e. tpil njhpatpy;iy 

 
106. Sangeet Natak Akademi Awards are given in which of the following categories?  

1. Music   2. Dance  3. Theatre   4. Puppetry  
a. 1, 2 and 3 only   b. 1, 2 and 4 only   c. 1, 3 and 4 only  
d. 1, 2, 3 and 4  e. Answer not known 
rq;fPj ehlf mfhnjkp tpUJfs; gpd;tUk; ve;j gphpTfSf;F toq;fg;gLfpwJ? 

 1. ,ir  2. eldk; 3. ehlfk;  4. nghk;kyhl;lk; 
 a. 1> 2 kw;Wk; 3  b. 1> 2 kw;Wk; 4  c. 1> 3 kw;Wk; 4 
 e. 1> 2> 3> 4   e. tpil njhpatpy;iy 
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107. The “Common Carbon Metric” supported by UNEP, has been developed for  
a. Assessing the carbon footprint of building operations around the world  
b. Enabling commercial farming entities around the world to enter carbon emission 

trading  
c. Enabling governments to assess the overall carbon footprint caused by their countries  
d. Assessing the overall carbon foot-print caused by the use of fossil fuels by the world 

in a unit time 
e. Answer not known 
UNEP apd; nghJ fhh;gd; nkl;hpf; KiwahdJ vjw;fhdJ? 
a. cynfq;fpYk; cs;s fl;bl eltbf;iffspd; fhh;gd; jlaj;ij kjpg;gPL nra;jy; 
b. cynfq;fpYk; cs;s tzpf tptrha epWtdq;fis fhh;gd; ckpo;T th;j;jfj;jpy; 

Eioar; nra;jy; 
c. murhq;fq;fs; jq;fs; ehLfshy; Vw;gLk; xl;Lnkhj;j fhh;gd; jlaj;ij kjpg;gpLtjw;F 

cjTfpwJ 
d. xU a+dpl; Neuj;jpy; cyfk; Gijgbt vhpnghUl;fisg; gad;gLj;Jtjhy; 

ntspaplg;gLk; xl;Lnkhj;j fhh;gd; jlaj;ij kjpg;gpLjy; 
e. tpil njhpatpy;iy 
 

108. Perseverance mission is related to:  
a. Jupiter   b. Venus    c. Mars  
d. Saturn  e. Answer not known 
gu;rtnud;]; jpl;lk; vjDld; njhlh;GilaJ? 
a. tpahod;  b. nts;sp   c. nrt;tha; 
d. rdp   e. tpil njhpatpy;iy 

 
109. Choose the correct statements with reference to InSight  

1. It is NASA’s mission to the Moon.  
2. It is part of the Discovery Program.  
a. 1 only    b. 2 only    c. Both 1 and 2  
d. Neither 1 nor 2  e. Answer not known 
,d;irl; gw;wpa rhpahd $w;Wfis fz;lwpf 
1. ehrhtpd; epyTj;jpl;lkhFk; 
2. ,J b];fthp jpl;lj;jpd; xU gFjpahFk; 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 
d. ,uz;Lky;y  e. tpil njhpatpy;iy 

 
110. Which of the following orgnaisations releases the World Governance Indicators Index?  

a. World Bank (WB)  
b. Economic Intelligence Unit (EIU)  
c. Heritage Foundation (HF)  
d. United States Agency for International Development (USAID) 
e. Answer not known 

 gpd;tUk; ve;j mikg;G cyf MSif Fwpf;fhl;bfs; FwpaPl;bid ntspapLfpwJ? 
a. cyf tq;fp (WB) 
b. nghUshjhu Gydha;T gphpT  
c. ghuk;ghpa mikg;G 
d. rh;tNjr tsh;r;rpf;fhd mnkhpf;f Kfik  
e. tpil njhpatpy;iy 
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111. Choose the correct statements  
1. Switzerland is the topmost FDI investor in India.  
2. Karnataka receives the highest FDI equity inflows.  
3. Currently, 100% FDI in the Insurance Sector is allowed under the automatic route.  
a. 1 only    b. 2 only    c. 3 only  
d. All of these  e. Answer not known 
rhpahd $w;Wfis fz;lwpf 
1. Rtpl;rh;yhe;J ,e;jpahtpy; mjpfstpy; me;epa Neub KjyPL nra;Ak; ehlhFk; 
2. fh;ehlfk; mjpf me;epa Neub KjyPl;bid ngWfpwJ 
3. jw;NghJ fhg;gPl;L Jiwapy; 100% me;epa Neub KjyPLfs; jhdpaq;fp Kiwapy; 

mDkjpf;fg;gLfpd;wd. 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 3 kl;Lk; 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
112. Which of the following best describes PARAM PORUL   

a. A state-of-the-art supercomputer based on Direct Contact Liquid Cooling 
technology.  

b. India's humanoid robot modeled on the lines of Robot Sofia.  
c. Long range missile  
d. An early warning system in space to detect debris and other hazards to Indian 

satellites. 
e. Answer not known 
gpd;tUtdtw;wpy; vJ PARAM PORUL rpwg;ghd tpthpf;fpwJ? 
a. Neub njhlh;G jput Fsp&l;Lk; njhopy;El;gj;ij nfhz;l xU mjpetPd #g;gh; 

fk;g;a+l;lh; 
b. NuhNgh Nrh/gpah khjphpahf ,e;jpahtpd; kdpj cUt ,ae;jpuk; 
c. neLe;J}uk; nry;Yk; VTfiz 
d. ,e;jpa nraw;iff;Nfhs;fSf;F Fg;igfs; kw;Wk; gpw Mgj;Jfis fz;lwpa 

tpz;ntspapy; xU Muk;g vr;rhpf;if mikg;ghFk; 
e. tpil njhpatpy;iy 

 
113. Choose the correctly matched pair  

Mission Space  Agencies  
1. Perseverance  - National Aeronautics and Space Administration (NASA)  
2. Hope   - European Space Agency (ESA)  
3. Mars Express  - Indian Space Research Organization (ISRO)  
a. 1 only    b. 2 and 3 only   c. 1 and 3 only  
d. 1, 2 and 3   e. Answer not known 

 rhpahd ,izfis fz;lwpf 
 tpz;ntsp jpl;lk;  Kfikfs; 

1. gh;rtnud;]; - ehrh 
2. N`hg;  -  INuhg;gpa tpz;ntsp Kfik 
3. khh;]; vf;gpu]; - ,e;jpa tpz;ntsp Muha;r;rp epWtdk; 
a. 1 kl;Lk;   b. 2 kw;Wk; 3 kl;Lk;  c. 1 kw;Wk; 3 kl;Lk; 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 

 
114. Choose the correct statements with reference to “Astra Mk-1 missile system”  

1. It is developed by the Defence Research and Development Organisation (DRDO).  
2. It is a beyond visual range, surface-to-air missile.  
3. The missile can travel at speeds more than four times that of sound.  
a. 1 and 2 only   b. 2 and 3 only   c. 1 and 3 only  
d. 1, 2 and 3   e. Answer not known 
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m];l;uh Mk-1 VTfis mikg;G gw;wpa rhpahd $w;Wfis fz;lwpf 
1. ,J ghJfhg;G Muha;r;rp kw;Wk; tsh;r;rp epWtdj;jhy; cUthf;fg;gl;lJ. 
2. ,J ghh;itf;F mg;ghw;gl;l VTfizahFk; 
3. ,J VTfiz xypia tpl ehd;F klq;F Ntfj;jpy; nry;yf;$baJ 
a. 1 kw;Wk; 2 kl;Lk;  b. 2 kw;Wk; 3 kl;Lk;  c. 1 kw;Wk; 3 kl;Lk; 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 
 

115. What is the purpose of the ‘evolved Laser interferometer Space Antenna (eLISA)’ 
project?  
a. To detect neutrinos  
b. To gravitational waves  
c. To detect the effectiveness of missile defence system  
d. To study the effect of solar flares on our communication systems 
e. Answer not known 

 eLISA jpl;lj;jpd; Nehf;fk; ahJ? 
a. epa+l;hpNdhit fz;lwpa 
b. <h;g;G miyfSf;F 
c. VTfiz ghJfhg;G mikg;gpd; nray;jpwid fz;lwpa 
d. ekJ jfty; njhlh;G mikg;Gfspy; #hpa vhpg;Gfspd; tpisit Ma;T nra;a 
e. tpil njhpatpy;iy 

 
116. A person buys an article for Rs. p and sells it for Rs. q thereby gaining r% . The selling 

price in terms of cost price may be written as - 

a. 
100

pr
   b. 

( )100

100

p r+
   c. 

( )100

100

p r−
   

d. 
( )100

100

r p+
  e. Answer not known 

xU egh; xU nghUis &.p ,f;F thq;fp &.q ,f;F tpw;fpwhh;. ,jd; %yk; r% ,yhgk; 
ngWfpd;whh;. thq;fpa tpiyia nghWj;J tpw;gid tpiyia vt;thW vOjyhk;. 

a. 
100

pr
   b. 

( )100

100

p r+
   c. 

( )100

100

p r−
   

d. 
( )100

100

r p+
  e. tpil njhpatpy;iy 

 

117. A shopkeeper buys goods at 
4

5
 of its marked price and sells them at 

7

5
of the marked 

price find his profit percentage. 
a. 30%  b. 40%  c. 60%  d. 75%  e. Answer not known 

xU filf;fhuu;> nghUs;fis mjd; Fwpj;j tpiyapy; 
4

5
 gq;fpw;F thq;fp> Fwpj;j 

tpiyapy; 
7

5
 gq;fpw;F tpw;why;> mthpd; ,yhgr; rjtPjk; fhz;f. 

a. 30%  b. 40%  c. 60%  d. 75%  e. tpil njhpatpy;iy 
 
118. Sara baked cakes for the school festival. The cost of one cake was ₹55. She sold 25 cakes 

and made a profit of ₹11 on each cake. Find the selling price of the cakes. 
a. Rs.1350  b. Rs.1400   c. Rs.1550   
d. Rs.1650  e. Answer not known 
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xU gs;spapy; tpohtpw;fhfr; rhuh> Nff; nra;jhs;. xU Nff;fpd; mlf;ftpiy Rs.55 MFk;. 
mts; xt;nthU Nff;ifAk; Rs.11 ,yhgj;jpw;F tpw;fpwhs;. 25 Nff;Ffis tpw;wpUe;jhy; 
tpw;gid tpiyia fhz;f.  
a. &.1350  b. &.1400   c. &.1550   
d. &.1650  e. tpil njhpatpy;iy 

 
119. A vegetable vendor bought 40 kg of onions for ₹360. He sold 36 kg at ₹11 per kg. The rest 

were sold at ₹4.50 per kg as they were not very good. Find his profit / loss percent. 
a. gain of 15%  b. gain of 10%  c. Loss of 15% 
d. Loss of 10%  e. Answer not known 
xU fha;fwp tpahghhp 40 fpNyh ntq;fhaj;ij &.360f;F thq;Ffpwhh;. Mth; xU  fpNyh 
&.11 vd;w tpiyf;F 36 fpNyhit tpw;fpwhh;. kPjKs;stw;iw xU fpNyh  Rs.4.50 vd;w 
tpiyf;F tpw;whh;. mtUf;Ff; fpilj;j ,yhg/el;lrjtPjj;ijf; fhz;f.  
a. 15%  yhgk;   b. 10%  yhgk;   c. 15% el;lk; 
d. 10% el;lk;   e. tpil njhpatpy;iy 

 

120. If a mattress is marked for ₹7500 and is available at two successive discounts of 10% and 
20%, find the amount to be paid by the customer. 
a. Rs. 4050  b. Rs.5040   c. Rs.4500   
d. Rs.5400  e. Answer not known 
xU nkj;ijapd; Fwpj;j tpiy Rs.7500. ,jw;F ,uz;L njhlh; js;Sgbfs; KiwNa 
10% kw;Wk; 20% vd toq;fg;gl;lhy;> thbf;ifahsu; nrYj;j Ntz;baj; njhifiaf; 
fhz;f. 
a. &.4050  b. &.5040   c. &.4500   
d. &.5400  e. tpil njhpatpy;iy 

 
121. Choose the correct statements with respect to Government Securities (G-Secs).  

1. G-Secs are called risk-free gilt-edged instruments.  
2. State Government issues both treasury bills and bonds or dated securities  
a. 1 only    b. 2 only    c. Both 1 and 2  
d. Neither 1 nor 2  e. Answer not known 

 murhq;f gj;jphpf;iffs; gw;wpa rhpahd $w;Wfis fz;lwpf 
1. G-sec Mgj;jpy;yhj Kyhk; Kidf;fUtpfs; vd;wiof;fg;gLfpd;wd. 
2. khepy muR fUt+y gpy;fs; kw;Wk; gj;jpuq;fs; my;yJ Njjpapl;l gj;jpuq;fs; 

,uz;ilAk; ntspapLfpwJ. 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 
d. ,uz;Lky;y  e. tpil njhpatpy;iy 

 
122. Choose the correct statements with reference to Agnipath Recruitment Scheme  

1. Under the scheme, soldiers (Agniveers) will be recruited annually at both the level of 
commissioned and non-commissioned levels.  

2. Recruitment will be carried out on an ‘All India All Class’ basis with the eligibility 
age ranging from 17.5 to 27 years. 

3. Agniveer can not apply for regular employment in the armed forces after completing 
their four-year service.  

4. There shall be entitlement to gratuity and pensionary benefits for Agniveer.  
a. 1 only    b. 1, 2 and 3 only    c. 1 and 3 only  
d. 1, 2, 3 and 4  e. Answer not known 
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mf;dpghj; MnsLg;G jpl;lk; gw;wpa rhpahd $w;Wfis fz;lwpf 
1. ,j;jpl;lj;jpd; fPo; uhZt tPuh;fs; Mz;LNjhWk; Mizapilg;gl;l kw;Wk; 

Mizaplg;glhj epiyfspy; gzpakh;j;jg;gLthh;fs; 
2. 17.5 Kjy; 27 taJ tiuapyhd jFjp taJila mfpy ,e;jpa midj;J tFg;G 

mbg;gilapy; Ml;Nrh;g;G Nkw;nfhs;sg;gLk;. 
3. ehd;F tUl Nritia Kbj;j gpwF mf;dptPh; MAjg;gilapy; tof;fkhd gzpf;F 

tpz;zg;gpf;f KbahJ 
4. mf;dptPuUf;F gzpf;nfhil kw;Wk; Xa;t+jpag; gyd;fSf;fhd chpik ,Uf;Fk; 
a. 1 kl;Lk;   b. 1> 2 kw;Wk; 3 kl;Lk;  c. 1 kw;Wk; 3 kl;Lk; 
d. 1> 2> 3 kw;Wk; 4  e. tpil njhpatpy;iy 
 

123. Choose the correct statements with reference to Open Network for Digital Commerce 
(ONDC)  
1. It is an initiative of the Ministry of Finance.  
2. It aims to promote open networks for all aspects of the exchange of goods and 

services digitally.  
a. 1 only    b. 2 only    c. Both 1 and 2  
d. Neither 1 nor 2  e. Answer not known 

 vz;k th;j;jfj;jpw;fhd jpwe;j tiyaikg;G gw;wpa rhpahd $w;Wfis fz;lwpf 
1. ,J epjp mikr;rfj;jpd; Kd;Kaw;rpahFk; 
2. vz;k Kiwapy; nghUl;fs; kw;Wk; Nritfspd; ghpkhw;wj;jpd; midj;J 

mk;rq;fSf;Fk; jpwe;j tiyaikg;gpid Nkk;gLj;Jtij ,J Nehf;fkhf 
nfhz;Ls;sJ. 

a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 
d. ,uz;Lky;y  e. tpil njhpatpy;iy 
 

124. Which of the following best describes “Agnikul” and “Skyroot”?  
a. ISRO’s in-orbit satellite servicing stations  
b. Start-ups developing launch vehicles for small payloads  
c. The controlled anti-satellite weapons  
d. ISRO’s initiative to monitor space debris 
e. Answer not known 
mf;dpFs; kw;Wk; ];if&l; vd;gJ ahJ? 
a. ,];Nuhtpd; Rw;Wg;ghijapy; nraw;iff;Nfhs; Nrit epiyaq;fs; 
b. rpwpa NgNyhLfSf;fhd VTfizfis cUthf;Fk; njhopy;Kidtfq;fs; 
c. fl;Lg;gLj;jg;gl;l nraw;iff;Nfhs; vjph;g;G MAjq;fs; 
d. tpz;ntsp Fg;igfis fz;lwpa ,];Nuhtpd; Kd;Kaw;rp 
e. tpil njhpatpy;iy 
 

125. Choose the correct statements regarding Sustainable Development Goals (SDGs):  
1. India is behind all south Asian nations except Pakistan in its 2021 SDG ranking.  
2. SDG India Index is developed by Oxfam India in collaboration with the United 

Nations.  
a. 1 only    b. 2 only    c. Both 1 and 2  
d. Neither 1 nor 2  e. Answer not known 

 ePbj;j epiyahd tsh;r;rp ,yf;Ffs; gw;wpa rhpahd $w;Wfis fz;lwpf 
1. ,e;jpah mjd; 2021 Mk; Mz;L SDG juthpirapy; ghfp];jhid jtpu midj;J 

njw;fhrpa ehLfSf;Fk; gpd;dhy; cs;sJ. 
2. SDG ,e;jpah FwpaPl;il Mf;];ghk; ,e;jpah If;fpa ehLfs; rigAld; ,ize;J 

cUthf;fpAs;sJ. 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 
d. ,uz;Lky;y  e. tpil njhpatpy;iy 
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126. Microcredit is delivered through which of the institutional channels in India?  
1. Scheduled commercial banks (SCBs)  
2. Cooperative banks  
3. Non-banking financial companies (NBFCs)  
a. 1 only    b. 1 and 2 only    c. 3 only  
d. 1, 2 and 3   e. Answer not known 

 ,e;jpahtpy; FWq;fld;fs; gpd;tUk; ve;j epWtdq;fs; %yk; toq;fg;gLfpd;wd? 
1. jpl;lkplg;gl;l tzpf tq;fpfs; (SCBs) 
2. $l;LwT tq;fpfs; 
3. tq;fpay;yhj epjp epWtdq;fs; (NBFCs) 
a. 1 kl;Lk;   b. 1 kw;Wk; 2 kl;Lk;   c. 3 kl;Lk; 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 
 

127. Choose the correct statements regarding Global Gender Gap Index, 2022:  
1. It is published by UN’s Inter-Agency Network on Women and Gender Equality 

(IANWGE).  
2. India’s score is above the global average in Political Empowerment dimension.  
3. India is ranked the last among all the countries in Health and Survival dimension.  
a. 1 only    b. 2 only    c. 2 and 3 only  
d. 1, 2 and 3   e. Answer not known 

 cyf ghypd ,ilntspf; FwpaPL 2022 gw;wpa rhpahd $w;Wfis fz;lwpf 
1. ,J ngz;fs; kw;Wk; ghypd rkj;Jtk; njhlh;ghd I.eh. ,il Kfikahy; 

ntspaplg;gLfpwJ. 
2. murpay; mjpfhukspj;jy; ghpkhzj;jpy; ,e;jpahtpd; kjpg;ngz; cyf ruhrhpiatpl 

mjpfkhf cs;sJ. 
3. MNuhf;fpak; kw;Wk; caph;thOk; ghpkhzj;jpy; midj;J ehLfspYk; ,e;jpah filrp 

,lj;jpy; cs;sJ. 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 2 kw;Wk; 3 kl;Lk; 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 

 
128. Which of the following countries are members of I2U2 group?  

1. India   2. Israel   3. Indonesia   4. Iran 
a. 1 and 2 only   b. 2, 3 only   c. 1, 3 only 
d. 1, 4 only   e. Answer not known 

 gpd;tUtdtw;wpy; I2U2 FOtpy; cWg;G ehLfshf cs;sit ahit? 
 1. ,e;jpah  2. ,];Nuy;  3. ,e;NjhNdrpah 4. <uhd; 
 a. 1> 2 kl;Lk;  b. 2> 3 kl;Lk;  c. 1> 3 kl;Lk; 
 d. 1> 4 kl;Lk;  e. tpil njhpatpy;iy 
 
129. Which of the following are the possible disadvantages of Genetically Modified Crops?  

1. Possible disruption of ecosystem and biodiversity  
2. Increase in the cost of cultivation  
3. Comparatively lesser production than natural cultivation  
4. Greater use of pesticides and insecticides during farming  
a. 1 and 2 only   b. 2 and 3 only   c. 1, 2 and 4 only  
d. All of these  e. Answer not known 

 kugZ khw;wg;gl;l gaph;fspd; rhj;jpakhd jPikfs; vit? 
1. Rw;Wr;#oy; kw;Wk; gy;Yaphpaypd; rhj;jpakhd rPh;FiyT 
2. rhFgb nryT mjpfhpg;G 
3. ,aw;if rhFgbia tpl xg;gPl;lstpy; Fiwthd cw;gj;jp 
4. tptrhaj;jpd; NghJ g+r;rpf;nfhy;ypfspd; mjpf gad;ghL 
a. 1 kw;Wk; 2 kl;Lk;  b. 2 kw;Wk; 3 kl;Lk;  c. 1> 2 kw;Wk; 4 kl;Lk; 
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
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130. “Bishkek Declaration” is related to which of the following species?  
a. Tiger    b. Indian rhinoceros   c. Snow leopard  
d. Asian elephant  e. Answer not known 

 ‘gp~;nff; gpufldk;’ gpd;tUk; ,dj;Jld; njhlh;GilaJ? 
 a. Gyp    b. ,e;jpa fhz;lhkpUfk;  c. gdpr;rpWj;ij 
 d. Mrpa ahid  e. tpil njhpatpy;iy 
 
131. The Jasmine Revolution is related to which of the following countries?  

a. Egypt   b. Bahrain    c. Syria  
d. Tunisia  e. Answer not known 

 ky;ypif Gul;rp gpd;tUk; ehl;Lld; njhlh;GilaJ? 
 a. vfpg;J  b. g ;̀iud;   c. rphpah 
 d. Jdprpah  e. tpil njhpatpy;iy 
 
132. Which of the following statements regarding China-Pakistan Economic Corridor (CPEC) 

is not correct?  
a. It is an infrastructure project that seeks to create economic and trade hubs with road 

and rail infrastructure.  
b. It is a part of China's larger Belt and Road Initiative.  
c. The corridor will link the capital cities of China-Pakistan.  
d. Both a and c 
e. Answer not known 
rPdh-ghfp];jhd; nghUshjhu ghij njhlh;ghd gpd;tUk; $w;Wfspy; jtwhdJ vJ? 
a. ,J xU cl;fl;likg;G jpl;lkhFk;> ,J rhiy kw;Wk; uapy; cl;fl;likg;Gld; 

nghUshjhu kw;Wk; th;j;jf ikaq;fis cUthf;f Kay;fpwJ. 
b. ,J rPdhtpd; kpfg;nghpa rhiy Kaw;rpahFk;. 
c. ,J rPdh kw;Wk; ghfp];jhdpd; jiyefuq;fis ,izf;Fk; 
d. a kw;Wk; c 
e. tpil njhpatpy;iy 
 

133. Choose the correct statements regarding Pichavaram Mangrove Forest:  
1. It is recently added in the Ramsar sites of wetlands.  
2. It is also a part of the World Network of Biosphere Reserves (Man and Biosphere 

Reserve).  
a. 1 only    b. 2 only    c. both 1 and 2 
d. None of these  e. Answer not known 

 gpr;rhtuk; rJg;Gepyf;fhLfs; njhlh;ghd rhpahd $w;Wfis fz;lwpf 
1. ,J rkPgj;jpy; uhk;rh; <uepyg;gFjpapy; ,izf;fg;gl;lJ 
2. ,J caph;f;Nfhs fhg;gfq;fspd; cyf tiyaikg;gpd; xU gFjpahFk; (kdpjd; 

kw;Wk; caph;f;Nfhs ghJfhg;gfk;) 
a. 1 kl;Lk;   b. 2 kl;Lk;    c. 1 kw;Wk; 2 
d. ,it VJkpy;iy  e. tpil njhpatpy;iy 

 
134. The MIST is an international submarine cable communication network that will traverse 

undersea to connect India with which of the following countries?  
1. Myanmar   2. Thailand   3. Maldives   4. Switzerland  
a. 1 and 2 only   b. 1, 2 and 3    c. 3 and 4 only  
d. 2, 3 and 4   e. Answer not known 
MIST vd;gJ xU rh;tNjr ePh;%o;fpf;fg;gy; Nfgps; tiyaikg;ghFk;. ,J gpd;tUk; ve;j 
ehLfSld; ,e;jpahit flYf;fbapy; ,izf;Fk;? 
a. 1 kw;Wk; 2 kl;Lk;  b. 1> 2 kw;Wk; 3  c. 3 kw;Wk; 4 kl;Lk; 
d. 2> 3 kw;Wk; 4  e. tpil njhpatpy;iy 
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135. Choose the correct statements regarding the Prevention of Money Laundering Act 
(PMLA):  
1. Enforcement Directorate (ED) is classified as a ‘police agency’ by the Act since it has 

powers of summons, arrests, and raids.  
2. Under the PMLA, the burden of proof of innocence lies with the accused and not the 

Enforcement Directorate (ED).  
a. 1 only    b. 2 only    c. Both 1 and 2  
d. Neither 1 nor 2  e. Answer not known 

 gz Nkhrb jLg;Gr; rl;lk; njhlh;ghd rhpahd $w;Wfis fz;lwpf 
1. mkyhf;f ,af;FeufkhdJ rk;kd;fs; ngWtJ> ifJfs; kw;Wk; Nrhjidfs; 

Mfpatw;wpd; mjpfhuq;fis ngw;wpUg;gjhy; rl;lj;jpd; %yk; xU ‘fhty; Kfik’ vd 
tifg;gLj;jg;gl;Ls;sJ. 

2. PMLA tpd; fPo; Fw;wkw;wth; vd;gij ep&gpf;Fk; Rik Fw;wk; rhl;lg;gl;ltUf;Fjhd; 
cs;sNj jtpu mkyhf;f ,af;Feufj;jpw;F my;y 

a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2 
d. ,uz;Lky;y  e. tpil njhpatpy;iy 

 

136. Match the following  
Books    Authors 
A. A New India  1. J.J. Singh 
B. The McMohan Line 2. Juggernaut 
C. Getting the bread  3. Prarthna Batra 
D. Mind Master  4. Susan Ninan 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 1 2 4 3 
d. 2 1 4 3 
e. Answer not known 

 nghUj;Jf 
 E}y;fs;   Mrphpah;fs; 
 A. v epa+ ,e;jpah  1. J.J. rpq; 
 B. jp kf;Nkhfd; iyd; 2. [{fh;ehl; 
 C. nfl;bq; the gpnuL 3. g;uhh;j;jdh gj;uh 
 D. ikd;l; kh];lh;  4. #rd; epdd; 

 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 1 2 4 3 
d. 2 1 4 3 
e. tpil njhpatpy;iy 

  
137. Choose the incorrectly matched pair/s 

Books     Authors 
1. Tiger of Drass    - Anuj Nayyar 
2. Queen of Fire    - Devika Rangachari 
3. Indian Agriculture towards 2030 -  FAO and NITI Aayog 
a. 1 only   b. 2 only   c. 3 only 
d. None of these  e. Answer not known 
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jtwhd ,iziaf; fz;lwpf 
E}y;fs;     Mrphpah;fs; 
1. ilfh; Mg; l;uh];    - mD[; ea;ahh; 
2. Fapd; Mg; /gah;    - Njtpfh uq;fhr;rhhp 
3. ,e;jpad; mf;hpfy;r;rh; Lth;]; 2030 - FAO kw;Wk; epjp MNahf; 
a. 1 kl;Lk;   b. 2 kl;Lk;   c. 3 kl;Lk; 
d. ,it VJkpy;iy  e. tpil njhpatpy;iy 
 

138. Match the following 
Books     Authors 
A. India – Africa Relations  1. Rajiv Bhatia 
B. Atal Bihari Vajpayee  2. Sagarika Ghose 
C. A nation to protect  3. Priyam Gandhi Modi 
D. Fearless Governance  4. Kiranbedi 
 A B C D 
a. 1 2 3 4 
b. 3 4 2 1 
c. 4 3 2 1 
d. 2 1 4 3 
e. Answer not known 
nghUj;Jf 
E}y;fs;     Mrphpah;fs; 
A. ,e;jpa – Mg;gphpf;fh hpNyrd;];  1. uh[pt; ghl;bah 
B. mly; gpfhhp th[;gha;   2. rfhhpfh Nfh~; 
C. v Nerd; L Gnuhnlf;l;   3. gphpak; fhe;jp Nkhb 
D. gpah;ny]; fth;ndd;];   4. fpud;Ngb 
 A B C D 
a. 1 2 3 4 
b. 3 4 2 1 
c. 4 3 2 1 
d. 2 1 4 3 
e. tpil njhpatpy;iy 
 

139. The book titled “A little Boy of India” was authored by 
a. Meenakshi Sekhi  b. Chandrachur Ghose c. Akash Kansal 
d. Ruskin Bond  e. Answer not known 

 v ypl;by; gha; Mg; ,e;jpah vd;w Gj;jfj;ij vOjpath; ahh;? 
 a. kPdhf;~p Nrf;fp  b. re;jpu#h; Nfh~;  c. Mfh~; fd;rhy; 
 d. u~;fpd; ghd;l;  e. tpil njhpatpy;iy 
 
140. Choose the correctly matched pair/s 

1. Sivappu Kazhuthudan Oru Pachai Paravai – Ambai 
2. Sellatha panam - Imaiyam 
3. Sool – Cho. Dharman  
4. Sanjaaram – Poomani 
a. 1, 2, 3 b. 2, 4  c. 1, 2, 4 d. All of these e. Answer not known 
rhpahd ,izfis fz;lwpf 
1. rptg;G fOj;Jld; xU gr;ir gwit – mk;ig 
2. nry;yhj gzk; - ,kak; 
3. #y; - Nrh. jh;kd; 
4. rQ;rhuk; - g+kzp 
a. 1, 2, 3 b. 2, 4  c. 1, 2, 4 d. ,it midj;Jk;     e. tpil njhpatpy;iy 
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141. Match the following 
Books     Authors 
A. Tamil Inbam   1. Kalki 
B. Alai Osai    2. R.P. Sethu Pillai 
C. Chakravarthi Thirumagan 3. C. Rajagopalachari 
D. Agal Vilakku   4. Mu. Varadarajan 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 2 4 3 1 
d. 1 4 3 2 
e. Answer not known 
nghUj;Jf 
E}y;fs;    Mrphpah;fs; 
A. jkpo; ,d;gk;   1. fy;fp 

B. miy Xir   2. R.P. NrJg;gps;is 
C. rf;futh;j;jp jpUkfd;  3. C. uh[Nfhghyhr;rhhp 
D. mfy;tpsf;F   4. K. tujuhrd; 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 2 4 3 1 
d. 1 4 3 2 
e. tpil njhpatpy;iy 
 

142. How many pairs are incorrectly matched? 
1. Dr. Muthulakshmi Reddy maternity benefit scheme – financial help to all pregnant 

women during maternity 
2. Varumun kappom scheme – conducting medical camp across the state 
3. Innuyir kappom scheme – emergency care for accident victims for the first 48 hours 
a. one pair   b. two pairs   c. three pairs 
d. none of these  e. answer not known 
vj;jid ,izfs; jtwhf nghUj;jg;gl;Ls;sd? 
1. lhf;lh;. Kj;Jnyl;Rkp nul;b kfg;NgW cjtp jpl;lk; - midj;J fh;g;gpzp 

ngz;fSf;Fk; kfg;NgW fhy epjpAjtp 
2. tUKd; fhg;Nghk; jpl;lk; - khepyk; KOtJk; kUj;Jt Kfhk;fs; elj;Jjy; 
3. ,d;Daph; fhg;Nghk; jpl;lk; - tpgj;jpy; rpf;fpNahUf;F Kjy; 48 kzpNeu mtru 

rprpf;ir 
a. Xh; ,iz   b. ,uz;L ,izfs;  c. %d;W ,izfs; 
d. ,it VJkpy;iy  e. tpil njhpatpy;iy 
 

143. Match the following 
A. Kamarajar Award 2021   1. Kumari Anandhan 
B. Thiruvalluvar Award 2022  2. M. Meenatchi Sundram 
C. Avvaiyar Award 2022   3. Girija Kumarababu 
D. Narishakthi Puraskar Award 2021 4. Thara Rangasamy 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 2 1 4 3 
e. Answer not known 
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nghUj;Jf 
A. fhkuh[h; tpUJ 2021   1. Fkhp Mde;jd; 

B. jpUts;Sth; tpUJ 2022  2. M. kPdhl;rp Re;juk; 
C. mt;itahh; tpUJ 2022   3. fphp[h FkhughG 
D. ehprf;jp Gu];fhh; tpUJ 2021  4. jhuh uq;frhkp 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 2 1 4 3 
e. tpil njhpatpy;iy 
 

144. Choose the correct pairs regarding NITI Aayog Health Index 2019-20 
State    Rank 
I. Kerala   1st 
II. Punjab   2nd 
III. Tamilnadu  3rd 
IV. Uttarpradesh  4th 
a. I, II, III b. I, IV c. I, II, IV d. All of these e. Answer not known 
epjp MNahf;fpd; eyf;FwpaPL 201-20 gw;wpa rhpahd ,izfis fz;lwpf 
khepyk;   juk; 
I. Nfush   1 
II. gQ;rhg;   2 
III. jkpo;ehL   3 
IV. cj;jpugpuNjrk;  4 
a. I, II, III b. I, IV c. I, II, IV d. ,it midj;Jk;      e. tpil njhpatpy;iy 
 

145. Choose the correct pairs regarding SDG urban index 2021-22 
I. 1st place – Shimla 
II. 2nd place – Coimbatore 
III. 3rd place – Chandigarh 
a. I, II  b. I, III  c. II, III d. I, II, III e. Answer not known 
SDG efh;g;Gw FwpaPL 2021-22 gw;wpa rhpahd ,izfis fz;lwpf 
I. Kjyplk; - rpk;yh 
II. 2tJ ,lk; - Nfhak;Gj;J}h; 
III. 3tJ ,lk; - rz;bfh; 
a. I, II  b. I, III  c. II, III d. I, II, III e. tpil njhpatpy;iy 
 

146. In a class of 35 students, 7 students were absent on a particular day. What percentage of 
the students were absent? 
a. 20%  b. 30%  c. 70%  d. 80%  e. Answer not known 
xU Fwpg;gpl;l ehspy;> 35 khzth;fs; cs;s xU tFg;gpy; 7 khzth;fs; tUif 
jutpy;iy vdpy;> tUif juhj khzth;fspd; rjtPjj;ijf; fhz;f. 
a. 20%  b. 30%  c. 70%  d. 80%  e. tpil njhpatpy;iy 

 
147. If y% of x is 50 and z% of y is 25 then the relation between x and z 
  a. x = 2z   b. z = 2x   c. x = 4z    

d. z = 4x   e. Answer not known 
x d; y rjtPjk; 50 vdTk; y d; z rjtPjk; 25 vdpy; x f;Fk; z f;Fk; cs;s njhlh;G. 
a. x = 2z   b. z = 2x   c. x = 4z    
d. z = 4x   e. tpil njhpatpy;iy 
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148. The percentage of 10 minutes in one hour is  

 a. 
2

16
3

 b. 
1

16
3

  c. 16  d. 17  e. Answer not known 

xU kzp Neuj;jpy; 10 epkplq;fspd; rjtPjk; vd;gJ 

a. 
2

16
3

 b. 
1

16
3

  c. 16  d. 17  e. tpil njhpatpy;iy 

 
149. The cost price of 16 boxes of strawberries is equal to the selling price of 20 boxes of 

strawberries. Find the gain or loss percentage. 
a. Gain of 16%  b. Loss of 16%  c. Loss of 20%   
d. Gain of 20%  e. Answer not known 
16 ];l;uhnghp (Strawberry) ngl;bfspd; mlf;f tpiyahdJ 20 ];l;uhnghp ngl;bfspd; 
tpw;gid tpiyf;Fr; rkk; vdpy;> ,yhgk; (m) el;lr; rjtPjk; fhz;f. 
a. 16% yhgk;   b. 16% el;lk;   c. 20% el;lk; 
d. 20% yhgk;   e. tpil njhpatpy;iy 

 
150. A water heater is sold by a trader for ₹10502 including GST at 18% and 11%profit. Find 

the GST. 
a. Rs. 1155  b. Rs.1602    c. Rs.1890   
d. Rs.2310  e. Answer not known 
tu;j;jfh;> xU jz;zPh; nfhjpfyid 11% ,yhgk; kw;Wk; 18% ruf;F kw;Wk; Nrit 
tupiar; Nrh;j;J Rs.10502 ,f;F tpw;whh;. jz;zPh; nfhjpfydpd; ruf;F kw;Wk; Nrit 
thpiaf; fhz;f. 
a. &.1155  b. &.1602    c. &.1890   
d. &.2310  e. tpil njhpatpy;iy 

 


